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TNPSC GROUP I TEST BATCH 2024 

TEST V  6-12TH ECONOMICS 
 

1. Pick out the correct years. 
i. National green Tribunal – 2002 
ii. Water (Prevention and control of pollution) Act – 1974 
iii. Wildlife Protection Act – 1982 
iv. Forest (Conservation) Act – 1980 
a. i, ii   b. ii, iii   c. ii, iv   
d. iii, iv  e. Answer not known 
rhpahd ,izfisj; Njh;e;njLf;fTk;. 
i. Njrpa gRikj; jPh;g;ghak; - 2002 
ii. ePh; (ghJfhg;G kw;Wk; khRgLj;Jjy; jLg;G) rl;lk; 1974 
iii. td tpyq;Ffs; ghJfhg;G rl;lk; - 1982 
iv. td (ghJfhg;G) rl;lk; - 1980  
a. i, ii   b. ii, iii   c. ii, iv   
d. iii, iv  e. tpil njhpatpy;iy  

 
2. In India, ____ regulates the circulation of currency. 

a. Ministry of Finance  b. Reserve Bank of India 
c. Ministry of Commerce  d. Scheduled Banks 
e. Answer not known 
,e;jpahtpy; gzg;Gof;fj;ij ________ xOq;FgLj;JfpwJ  

a. epjp mikr;rfk;    b. ,e;jpa hprh;t; tq;fp  
c. tzpf mikr;rfk;  d. ml;ltizg; gLj;jg;gl;l tq;fpfs;  
e. tpil njhpatpy;iy 

 
3. The thesis on ‘The Problem of the Rupee – Its origin and solution’ was written by 

______ 
a. Dr. Amartya Sen   b. Dr. Raguram Rajan 
c. Dr. B.R. Ambedkar  d. Dr. Hansa Mehta 
e. Answer not known 
"gzj;jpd; rpf;fYk; mjd; jPh;Tk;" vDk; Muha;r;rpf; fl;Liuia vOjpath; 
_________.  
a. Dr. mkh;j;jpah nrd;  b. Dr. uFuhk; uh[d;  
c. Dr. B.R. mk;Ngj;fh;   d. Dr. `d;rh Nkj;jh  
e. tpil njhpatpy;iy 
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4. Inflation control is initiated by ____ in India. 
a. Ministry of Finance  b. Ministry of Commerce 
c. Ministry of Statistics  d. Reserve bank of India 
e. Answer not known 
,e;jpahtpy; gztPf;fk; fl;Lg;ghl;il eilKiwg;gLj;JtJ __________.  
a. epjp mikr;rfk;    b. th;j;jf mikr;rfk;  
c. Gs;spapay; mikr;rfk;   d. ,e;jpa hprh;t; tq;fp 
e. tpil njhpatpy;iy 

 
5. Virtual water is ___ 

a. Water in production process  b. Imaginary water 
c. Electronic water    d. Waterless nature 
e. Answer not known 
kiwePh; vd;gJ ___________. 
a. cw;gj;jpapd; kPjhd ePH   b. fw;gidahd ePh;  
c. kpd;rhu ePh;     d. ePhpy;yhj jd;ik  
e. tpil njhpatpy;iy 

 
6. In Indian (census 2011) 

i. Mobility of population in rural areas in Tamil Nadu is greater than that in 
urban areas. 

ii. Mobility of population in urban areas in India is greater than in rural areas. 
Which of these are relevant? 
a. i only  b. ii only   c. i, ii   
d. None  e. Answer not known 
,e;jpah 2011 fzf;nfLg;gpd; gb  
i. jkpo;ehl;bd; fpuhkg;Gw kf;fspd; ,lk;ngah;thdJ efh;Gwj;ij tpl 

mjpfkhFk;.  
ii. ,e;jpahtpd; efh;g;Gw kf;fspd; ,lk;ngah;thdJ fpuhkg;Gwq;fis tpl 

mjpfkhFk;.  
,tw;Ws; nghUj;jkhdit vit?  
a. i kl;Lk;  b. ii kl;Lk;    c. i kw;Wk; ii   
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 

7. The term Gross National Happiness was coined by 
a. Mahbub Ul-Haq   b. Jigme Singye Wangchuck 
c. Amartiya Sen   d. J.M. Keynes 
e. Answer not known 
nkhj;j Njrpa kfpo;r;rp (GNH) vd;w thu;j;ijia cUthf;fpatu;. 
a. kfg+g; cy; `f;   b. [pf;Nk rpq;fNa thq;r;`f; 
c. mku;j;jpah nrd;   d. J.M. fPd;]; 

e. tpil njhpatpy;iy 
 

8. Consider the following statements 
I. First conference of GATT was held in 1947 (Switzerland). 
II. Uruguay Round is the Final Rounds of GATT (1986 - 1994). It paved way 

for setting of WTO. 
III. The WTO Agreement came into force on March 1, 1995. 
IV. At present 188 countries are the members of WTO 
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a. I, II, III, IV are correct b. I, III are correct  c. I, II are correct  
d. II, IV are correct  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
I. GATT mikg;gpd; Kjy; khehL 1947 Mk; Mz;L ];tpl;ru;yhe;jpy; 

eilngw;wJ. 
II. GATT- apd; filrp khehL cUFNt Rw;W (1986 - 1994) MFk;. ,JNt 

cyf tu;j;jf ikak; Njhd;w toptFj;jJ. 
III. WTO cld;gbf;if eilKiwf;F te;j ehs; khu;r; 1> 1995. 
IV. WTO tpy; jw;NghJ 188 ehLfs; cWg;gpdu;fshf cs;sdu;. 
a. I, II, III, IV rup  b. I, III rup   c. I, II rup   
d. II, IV rup   e. tpil njhpatpy;iy 

 
9. The Industrial policy resolution, 1948 had classified industries as  

1. Strategic industries  2. Key industries  
3. Controlled private sector  4. Private and cooperative sectors  
a. 1, 2, 3, 4 b. 1, 2, 4  c. 3, 4  d. 1, 2   e. Answer not known 
1948- njhopw;nfhs;ifapd;gb> njhopy;fs; vt;thW tifg;gLj;jg;glld? 
1. %yj;njhopy;fs;   2. Kf;fpaj;njhopy;fs; 
3. fl;Lg;gLj;jg;gl;l jdpahu;Jiw 
4. jdpahu; kw;Wk; $l;LwT epWtdq;fs; 
a. 1, 2, 3, 4 b. 1, 2, 4  c. 3, 4  d. 1, 2   e. tpil njhpatpy;iy 

 
10. The industrial resolution policy, 1956 was shaped by the __________ model of 

growth  
a. Jawaharlal Nehru  b. Mahalanobis   c. Gurnar Myrdal   
d. M.N Roy     e. Answer not known 
njhopw;Jiw jPu;khdf; nfhs;if> 1956 ve;j tsu;r;rp khjpupapd; mbg;gilapy; 
mikf;fg;gl;lJ? 
a. [t`u;yhy; NeU  b. kfyNdhgp];  c. Fh;dh; kph;jhy; 
d. M.N. uha;   e. tpil njhpatpy;iy 

 
11. Match the following: 

Location     Assistance  
A. Rourkela     1. Russia  
B. Bhilai    2. Germany  
C. Durgapur     3. India  
D. Vijaya Nagar    4. UK  
 A B C D 
a. 3 4 1 2 
b. 1 2 3 4 
c. 2 1 4 3  
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf. 
,lk;     cjtp 
A. &u;Nfyh    1. u~;ah 
B. gpyha;    2. n[u;kdp 
C. Ju;fhG+u;    3. ,e;jpah 
D. tp[ah efu;   4. ,q;fpyhe;J 
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  A B C D 
a. 3 4 1 2 
b. 1 2 3 4 
c. 2 1 4 3  
d. 4 3 1 2 
e. tpil njhpatpy;iy 

 
12. The 6 banks with deposits above ₹200 Cr were nationalized on __________ 

a. 15 April 1969  b. 19 July 1980  c. 15 April 1980  
d. 19 July 1969   e. Answer not known 
&. 200 Nfhbf;F Nky; itg;Gj;njhif nfhz;l 6 tq;fpfs; vg;NghJ Njrpa 
kakhf;fg;gl;ld? 
a. 15 Vg;uy; 1969  b. 19 [_iy 1980  c. 15 Vg;uy; 1980  
d. 19 [_iy 1969  e. tpil njhpatpy;iy 

 
13. The plan holiday was between  

a. 1962-1965   b. 1966-1969   c. 1972-1979  
d. 1980-1984    e. Answer not known 
jpl;ltpLKiw fhyk; vg;NghJ? 
a. 1962-1965   b. 1966-1969   c. 1972-1979  
d. 1980-1984    e. tpil njhpatpy;iy 

 
14. Rolling plan was made in _________ 

a. 1966-1967   b. 1978-1979   c. 1981-1982  
d. 1989-1990    e. Answer not known 
Roy; jpl;lk; vg;NghJ njhlq;fg;gl;lJ? 
a. 1966-1967   b. 1978-1979   c. 1981-1982  
d. 1989-1990   e. tpil njhpatpy;iy 

 

15. The PQLI includes  
1. Life expectancy 2. Infant Mortality Rate  3. Literacy rate   
Which is correct? 
a. 1, 2  b. 1, 2, 3 c. 2, 3  d. 1, 3   e. Answer not known 
PQLI vd;gJ fPo;f;fz;ltw;wpy; vij cs;slf;fpait? 
1. tho;ehs; vjph;g;ghh;g;G 2. Foe;ij ,wg;G tPjk; 3. vOj;jwpT tPjk; 
rupahdtw;iw Nju;e;njLf;f. 
a. 1, 2  b. 1, 2, 3 c. 2, 3  d. 1, 3   e. tpil njhpatpy;iy 

 

16. Match the following: 
A. 1921  1. Year of Demographic Transition 
B. 1951  2. Year of small divide  
C. 1961  3. Year of population Explosion  
D. 2011  4. Year of Great divide. 
 A B C D 
a. 4 2 3 1 
b. 4 3 2 1 
c. 1 3 2 4  
d.  1 4 2 3 
e. Answer not known 



 

5 | Page  044-24339436, 42867555, 9840226187 
 

nghUj;Jf. 
A. 1921  1. kf;fs;njhif khWjYf;fhd Mz;L 
B. 1951  2. rpWgpsT Mz;L  
C. 1961  3. kf;fs;njhif ntbg;G Mz;L  
D. 2011  4. ngUk; gphptpid Mz;L 
 A B C D 
a. 4 2 3 1 
b. 4 3 2 1 
c. 1 3 2 4  
d.  1 4 2 3 
e. tpil njhpatpy;iy 

 
17. Identify the correctly matched among the following: 

1. Kolar gold field   - Raichur District 
2. Hutti gold field   - Anantpur District 
3. Ramgiri gold field - Kolar District   
a. 1, 2,   b. 1, 2, 3   c. None   
d. 2, 3   e. Answer not known 
nghUe;jpAs;s ,izia Njh;T nra;f. 
1. Nfhyhh; jq;f tay; - nua;r;#h; khtl;lk; 
2. `l;b jq;ftay;  - mde;jg+h; khtl;lk; 
3. uhk;fphp jq;ftay;  - Nfhyhh; khtl;lk;  
a. 1, 2    b. 1, 2, 3   c. vJTkpy;iy   
d. 2, 3   e. tpil njhpatpy;iy   

 
18. The Gandhian Economic Thought includes  

1. Industrialism as curse   2. Machinery a great sin 
3. Doctrine of trusteeship  4. Dignity of Human Labour  
a. 1, 4  b. 1, 2, 4 c. 1, 2, 3, 4 d. 3, 4   e. Answer not known 
fhe;jpag; nghUshjhu rpe;jidapd; rpwg;gpay;Gfs; ______ 
1. njhopy;kak; kdpj ,dj;jpd; ngUk; rhgf;NfL 
2. ,ae;jpuq;fs; kpfg;nghpa ghtk; 
3. mwf;fl;lisf; Nfhl;ghL 
4. kdpj ciog;gpd; kfj;Jtk; 
a. 1, 4  b. 1, 2, 4 c. 1, 2, 3, 4 d. 3, 4   e. tpil njhpatpy;iy 
 

19. What are the reasons for low per capita income and low levels of per capita 
nutrition in India? 

 1. Uneconomic holdings in India 
 2. Low levels of water availability for crops 
 3. Absence of capital 
 4. Excess population pressure on agriculture 
 a. 1, 2, 3, 4   b. 2, 3, 4   c. 1, 2, 3  
 d. 1, 4,    e. Answer not known 
 jdpegh; tUkhdk; Fiwtpw;Fk;> jdpegh; Cl;lr;rj;J Fiwtpw;Fk; vd;d 
 fhuzk; $Wf. 
 1. ,e;jpahtpYs;s Kiwaw;w epyTilik 
 2. gaph;fSf;F Fiwthd ePh;ghrd trjp fpilj;jy; 
 3. KjyPL ,d;ik 
 4. tptrhaj;jpy; mjpfg;gbahd kf;fs;njhif mOj;jk; 
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 rhpahdtw;iw Njh;T nra;f.  
 a. 1, 2, 3, 4   b. 2, 3, 4   c. 1, 2, 3  
 d. 1, 4,    e. tpil njhpatpy;iy 

 
20. Consider the following statements. 

Assertion (A):  Indian Economy is Mixed Economy. 
Reason (R):  In India, Private and Public Sector are existing together. 
a. Both (A) and (R) are correct and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true. 
d. Both (A) and (R) are correct but (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
$w;W (A):  ,e;jpag; nghUshjhuk; xU fyg;Gg; nghUshjhuk; 

fhuzk; (R): ,e;jpag; nghUshjhuj;jpy; jdpahu; Jiw epWtdq;fSk;  
  nghJj; Jiw epWtdq;fSk; ,ize;J nray;gLfpd;wd.  
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 

 
21. Characteristics of capital. 

i. Capital is the dispensable factor of production. 
ii. Capital has the highest mobility. 
iii. Capital is productive 
a. i, ii, iii b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
%yjdj;jpd; ,ay;Gfs; vit? 
i. ,J cw;gj;jpapy; jtpu;f;f Kbahj fhuzp 
ii. mjpfk; ,aq;Fk; jd;ikAilaJ. 
iii. %yjdk; Mf;fKilaJ. 
a. i, ii, iii b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 

 
22. Which of the following is/are indirect taxes? 

i. Sales tax  ii. Corporate tax iii. Customs duty iv. Excise duty 
a. i, ii, iii  b. ii, iii, iv   c. i, iii, iv   
d. iii, iv  e. Answer not known 
gpd;tUtdtw;Ws; kiwKf thpfs; vit? 
i. tpw;gid thp ii. epWtdthp  iii. Rq;f thp  iv. fyhy; thp 
a. i, ii, iii  b. ii, iii, iv   c. i, iii, iv   
d. iii, iv  e. tpil njhpatpy;iy 

 
23. Which of the following is/are direct taxes? 

i. Wealth tax   ii. Capital gains tax 
iii. Corporate tax  iv. Value added tax 
a. i, ii, iii   b. ii, iii, iv   c. i, ii, iv   
d. all the above  e. Answer not known 
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gpd;tUtdtw;Ws; Neu;Kf tupfs; vit? 
i. nry;t tup   ii. %yjd Mjhatup 
iii. epWtd tup  iv. kjpg;G $l;Ltup 
a. i, ii, iii   b. ii, iii, iv   c. i, ii, iv   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
24. Consider the following statements. 

I. The value of money is directly proportional to the price level. 
II. Internal value of money refers to the purchasing power of money over 

domestic goods and services. 
III. The external value of money refers to the purchasing power of money over 

foreign goods and services. 
a. I, II are correct  b. I only is incorrect c. I, II III are correct  
d. II, III are incorrect e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. gzj;jpd; kjpg;Gk; tpiyapd; msTk; Neu;kiwj; njhlu;GilaJ. 
II. gzj;jpd; mfkjpg;G vd;gJ cs;ehl;bYs;s gz;lk; kw;Wk; gzpfspd; 

thq;Fk; rf;jpiaf; Fwpf;Fk;. 
III. gzj;jpd; Gwkjpg;G vd;gJ ntsp ehl;bYs;s gz;lk; kw;Wk; gzpfis 

thq;Fk; rf;jpiaf; Fwpf;Fk;. 
a. I, II rup   b. I kl;Lk; jtW  c. I, II, III rhp   
d. II, III jtW   e. tpil njhpatpy;iy 

 
25. Which of the following Is/are correct? 

i. The Indian Rupee symbol was designed by Mr. Udayakumar. 
ii. It was approved by Government of India on 15-June, 2010. 
a. i, ii   b. i    c. ii   
d. none  e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. ,e;jpa &gha; FwpaPl;bid tbtikj;jtu; cjaFkhu;. 
ii. ,J [_d; 15-2010 md;W ,e;jpa murhy; mq;fPfupf;fg;gl;lJ. 
a. i, ii   b. i    c. ii   
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

26. Who advocated the Mixed economic system in India? 
a. Lal Bahadur Sashtri b Mahatma Gandhi  c. Jawaharlal Nehru 
d. Subash Chandra Bose e. Answer not known 
,;e;jpahtpy; fyg;Gg; nghUshjhuj;ij Mjupj;jtu;? 
a. yhy;gfJ}u; rh];jpup b. kfhj;kh fhe;jp  c. [t`u;yhy; NeU  
d. Rgh~; re;jpuNgh]; e. tpil njhpatpy;iy  

 
27. Which of the following is classified the industries into three categories schedule 

A, B & C? 
a. Industrial policy 1948   b. Industrial policy 1956 
c. Industrial policy 1980   d. Industrial policy 1991 
e. Answer not known 
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gpd;tUtdtw;Ws; ve;j njhopy;Jiwf; nfhs;if %yk; epWtdq;fs; ml;ltiz A, 
B kw;Wk; C vd tifg;gLj;jg;gl;Ls;sd? 
a. njhopy; Jiw nfhs;if 1948  b. njhopy; Jiw nfhs;if 1956 
c. njhopy; Jiw nfhs;if 1980  d. njhopy; Jiw nfhs;if 1991 

 
28. Who is called as the “Father of Public Sector undertakings in India”? 

a. V.K.R. Varadaraja Rao  b. P.C. Mahalanobis 
c. V. Krishnamoorthy  d. Krishna Menon 
e. Answer not known 
“,e;jpahtpd; nghJj;Jiw epWtdq;fspd; je;ij” vd;W miof;fg;gLgtu;? 
a. V.K. tujuh[ uht;   b. P.C. nk`yNdhgp]; 
c. V. fpU~;z%u;j;jp   d. fpU~;zNkdd; 
e. tpil njhpatpy;iy 

 
29. Choose the correct statements about Industrial policy 1991? 

i. It deliberated the disinvestment of public sector. 
ii. It allowed greater Freedom to the private sector. 
iii. Foreign Direct Investment was invited from business houses outside India. 
a. i, ii, iii  b. i, iii    c. ii, iii   
d. i, ii   e. Answer not known 
njhopw;Jiwf; nfhs;if 1991 Fwpj;J rhpahd $w;wpidj; Njh;e;njL 
i. nghJj;Jiw gq;F tpyfiy Cf;Ftpj;jJ 
ii. jdpahh; Jiwf;F mjpf Rje;jpuj;ij mDkjpj;jJ 
iii. ,e;jpahtpw;F ntspNa cs;s tzpf epWtdq;fspypUe;J me;epa Neub 

KjyPl;bw;F miog;GtpLj;jJ 
a. i, ii, iii  b. i, iii    c. ii, iii   
d. i, ii   e. tpil njhpatpy;iy 

 
30. Consider the following statements. 

Assertion (A): NITI Aayog is referred as the Think Tank of India. 
Reason (R): NITI Aayog integrates all the social sector initiatives of the centre, state 
and local bodies. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true, but (R) is false 
c. (A) is false, but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W(A):epjp MNahf; ,e;jpahtpd; “kjpAiuaff; FO” vd mwpag;gLfpwJ. 
fhuzk; (R): ,e;j mikg;G kj;jpa> khepy kw;Wk; cs;shl;rp mikg;Gfspd; 
r%fJiw Kaw;rpfis xUq;fpizg;gjpy; nghUj;jkhd jsj;ij Vw;gLj;Jk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 
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31. The conditions for PSU come under Maharatna status is/are? 
i. Three years with an average annual net profit of over ` 2500 crore. 
ii. Average annual Turnover of ` 20000 crore for 5 years. 
iii. Average Annual Net worth of ` 10000 crore for 3 years. 
a. i, ii, iii  b. i, ii    c. i, iii   
d. ii, iii  e. Answer not known 
kfhuj;dh njhopw;rhiyfSf;fhd epge;jidfs; vit? 
i. ruhrhpahf Mz;Lf;F epfuyhgk; ₹2500 Nfhb vd %d;W Mz;LfSf;F ,Uf;f 

Ntz;Lk; 
ii. ruhrhp Mz;L tUtha; 5 Mz;LfSf;F ₹20000 Nfhb 
iii. ruhrhp Mz;L epfu kjpg;G 3 Mz;LfSf;F ₹1000 Nfhb 
a. i, ii, iii  b. i, ii    c. i, iii   
d. ii, iii  e. tpil njhpatpy;iy 

 
32. Which of the following is one of the method to monitor purchasing power? 

a. Wholesale Price Index   b. Producer Price Index 
c. Consumer Price Index   d. Industrial Production Index 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j xd;W thq;Fk; rf;jpiaf; fz;fhzpg;gjw;fhd Kiw? 
a. nkhj;jtpw;gid tpiy FwpaPl;L vz; b. cw;gj;jpahsu; tpiy FwpaPl;L vz; 
c. Efu;Nthu; tpiy FwpaPl;L vz;  d. njhopw;rhiy cw;gj;jp FwpaPl;L vz; 
e. tpil njhpatpy;iy 

 
33. Which of the following statements about Multidimensional Poverty Index (MPI) 

is/are correct? 
i. It was launched by UNDP and OPHI in 2010. 
ii. It has Ten Indicators. 
iii. India has reduced its poverty rate from 55% to 28% in 10 years. 
a. i, ii, iii  b. i, iii     c. i, ii    
d. ii, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; gyghpkhz tWik FwpaPL gw;wp rhpahdit vit? 
i. ,J 2010Mk; Mz;by; UNDP kw;Wk; OPHI Mfpatw;why; njhlq;fg;gl;lJ 
ii. ,J gj;J FwpaPLfisf; nfhz;L fzf;fplg;gLfpwJ 
iii. ,jd;gb ,e;jpah jdJ tWik tpfpjj;ij 10 Mz;Lfspy; 55% ypUe;J 

28% Mf Fiwe;Js;sJ 
a. i, ii, iii  b. i, iii     c. i, ii    
d. ii, iii  e. tpil njhpatpy;iy 
 

34. Consider the following statements. 
Assertion (A): Taxation can be used as an instrument for controlling inflation. 
Reason (R):  Through Taxation the government can control inflation by  
   reducing the tax on the commodities. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true. 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
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gpd;tUk; $w;Wfis Muha;f. 
$w;W (A): tup vd;gJ gztPf;fj;ijf; fl;Lg;gLj;Jk; fUtpfSs; xd;whf 
gad;gLj;jg;gLfpwJ 
fhuzk; (R): murhq;fk; gz;lq;fs; kPjhd tup tpfpjj;ij Fiwg;gjd; %yk; 
gztPf;fj;ijf; fl;Lg;gLj;j KbAk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 

 
35. Consider the following statements. 

Assertion (A):Chennai is nicknamed as “The Detroit of Asia”. 
Reason (R): Chennai has the largest number of electronic industries in Asia. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A):nrd;id Mrpahtpd; nl;luha;l; vd;W miof;fg;gLfpd;wJ. 
fhuzk; (R): nrd;id kpf mjpf mstpyhd kpd;dZj; njhopw;rhiyfisf; 
nfhz;Ls;sJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 

 
36. Match the following 

District   Industrial cluster 
A. Thiruvallur  1. Automotive 
B. Kanchipuram  2. Silk Sarees 
C. Vellore   3. Leather 
D. Hosur   4. Automotive and Electronics 
 A B C D 
a. 1 2 3 4 
b. 4 2 3 1 
c. 3 2 4 1 
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf. 
khtl;lk;   njhopy;Jiw njhFg;G 
A. jpUts;Stu;  1. jhdpaq;fp 
B. fhQ;rpGuk;   2. gl;LMilfs; 
C. NtY}u;   3. Njhy; 
D. XRu;    4. jhdpaq;fp kw;Wk; kpd;dZ 
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 A B C D 
a. 1 2 3 4  
b. 4 2 3 1 
c. 3 2 4 1 
d. 3 2 1 4 
e. tpil njhpatpy;iy 

 
37. Match the following 

District   Industrial cluster 
A. Coimbatore  1. Knitwear and Readymade Garments 
B. Tiruppur   2. Leather 
C. Madurai   3. Textile and IT 
D. Sivakasi   4. Fireworks, Matches and printing 
 A B C D 
a. 1 3 2 4 
b. 3 1 2 4 
c. 2 1 3 4 
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf. 
khtl;lk;   njhopy;Jiw njhFg;G 
A. Nfhak;gj;J}u;  1. gpd;dyhil kw;Wk; Maj;j Milfs; 
B. jpUg;G+u;   2. Njhy; 
C. kJiu   3. Maj;j Milfs; kw;Wk; jfty; njhopy;El;gk; 
D. rptfhrp   4. gl;lhR> jPg;ngl;b> mr;rpLjy; 
 A B C D 
a. 1 3 2 4 
b. 3 1 2 4 
c. 2 1 3 4 
d. 3 2 1 4 
e. tpil njhpatpy;iy 

 
38. Which of the following belt is known for truck body building industry? 

a. Salem – Erode   b. Karur – Namakkal 
c. Namakkal – Tiruchengode d. Vellore – Kancheepuram 
e. Answer not known 
RikJ}f;Fk; thfd KOghf fl;likg;gpw;fhd njhopw;rhiyfSf;Fg; ngau; ngw;w 
,lq;fs; vJ? 
a. Nryk;-<NuhL   b. f&u; - ehkf;fy; 
c. ehkf;fy; - jpUr;nrq;NfhL d. NtY}u; - fhQ;rpGuk; 

e. tpil njhpatpy;iy 
 
39. Consider the following statements. 

Assertion (A): Coimbatore is referred as the “Manchester of South India”. 
Reason (R): Coimbatore is the largest producer of cotton in India. 
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a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): Nfhak;Gj;J}u; “njd;dpe;jpahtpd; khd;nr];lu;” vd miof;fg;gLfpwJ. 
fhuzk; (R): Nfhak;Gj;J}u; ,e;jpahtpNyNa kpf mjpf mstpy; gUj;jp cw;gj;jp 
nra;fpd;wJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y. 
e. tpil njhpatpy;iy 

 
40. Which of the following statements about Tamilnadu is/are correct? 

i. Tamilnadu accounts for 50% of leather tanning capacity in India. 
ii. It contributes 38% of all leather footwear, garments and components of 

India. 
a. i, ii   b. i only   c. ii only   
d. none   e. Answer not known 
gpd;tUk; $w;Wfspy; jkpo;ehL gw;wp rupahdit vit? 
i. ,e;jpahtpd; 50% Njhy; gjdpLk; cw;gj;jpjpwd; nfhz;lJ. 
ii. 38% Njhy; fhyzpfs; kw;Wk; Njhy; cjpup ghfq;fs; nghUl;fspd; 

cw;gj;jpiaf; nfhz;Ls;sJ. 
a. i, ii   b. i kl;Lk;   c. ii kl;Lk;    
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

41. Match the following 
nghUj;Jf 
A. SIPCOT   1. 1970 
B. TANSIDCO  2. 1971 
C. TIIC   3. 1965 
D. TANSI   4. 1949 
 A B C D 
a. 1 2 4 3 
b. 2 1 4 3 
c. 2 1 3 4 
d. 1 2 3 4 
e. Answer not known 

 
42. Which of the following is/are wrongly matched? 

i. SIPCOT – To provide Financial Assistance for Privates firms 
ii. TANSIDCO – To provide technical assistance for new firms 
iii. TIDCO – To establish industrial estates 
iv. TIIC – To provide low-cost financial support for new units and expansion 

of existing units. 
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a. i, ii   b. i     c. iii, iv   
d. none  e. Answer not known 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpait vit? 
i. SIPCOT –  jdpahu; epWtdq;fSf;F epjpAjtp toq;Ffpd;wJ. 
ii. TANSIDCO  – Gjpa epWtdq;fSf;F njhopy;El;g cjtpfis 

toq;Ffpd;wJ. 
iii. TIDCO –  njhopy; g+q;fhf;fis epWTfpwJ. 
iv. TIIC – Gjpa njhopy; gpupTfis epWTtjw;Fk; jw;NghJs;s njhopy; 

gpupTfisg; ngUf;Ftjw;Fk; Fiwe;j mstpyhd epjpAjtp toq;Ffpd;wJ. 
a. i, ii   b. i     c. iii, iv   
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
43. Which of the following organisation was to be the first Industrial corporation 

operating in the domain for small enterprises? 
a. TIDCO  b. SIPCOT   c. TANSIDCO  
d. TANSI  e. Answer not known 
gpd;tUtdtw;Ws; ve;j xd;W rpW epWtdq;fSf;fhf epWtg;gl;l Kjy; njhopy;Jiw 
epWtdk;? 
a. TIDCO  b. SIPCOT   c. TANSIDCO  
d. TANSI  e. tpil njhpatpy;iy 

 
44. Consider the following statements. 

I. The prime minister of India announced the new industrial policy on June 
24, 1991. 

II. It liberate the indigenous enterprise from the Restrictions of MRTP act. 
a. I, II are correct  b. I is correct   c. II is correct  
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. Gjpa njhopw;nfhs;ifia [_d; 24> 1991,y; ,e;jpa gpujku; mwptpj;jhu;. 
II. ,J MRTP -rl;lf; fl;Lg;ghLfspypUe;J cs;ehl;L epWtdq;fis 

jsu;j;jpaJ. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 

 
45. Which of the following is/are the primary objectives of the industrial policy of 

1991? 
i. To promote major industries from the clutches of bureaucrats. 
ii. To abolish restrictions on Foreign Direct Investment. 
iii. To achieve international competitiveness. 
a. i, ii, iii  b. i, ii    c. ii, iii   
d. i, iii   e. Answer not known 
gpd;tUtdtw;Ws; njhopw;nfhs;if 1991-d; Kjd;ik Nehf;fq;fs; vit? 
i. mjpfhupfspd; gpbapy; ,Uf;Fk; gy njhopy;fis Kd;Ndw;WtJ. 
ii. ntspehl;L Neub KjyPLfspy; cs;s fl;Lg;ghLfis xopg;gJ. 
iii. ru;tNjr Nghl;bfis vjpu;nfhs;tJ 
a. i, ii, iii  b. i, ii    c. ii, iii   
d. i, iii   e. tpil njhpatpy;iy 
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46. The Pradhan Mantri Fasal Bima Yojana was launched on ___. 
a. 12 January 2015  b. 18 February 2016   c. 22 April 2016 
d. 13 February 2017  e. Answer not known 
gpujk ke;jpup gapu; fhg;gPl;Lj;jpl;lk; (gry; gPk Nah[dh) njhlq;fg;gl;l ehs; ____. 
a. 12 [dtup 2015  b. 18 gpg;utup 2016   c. 22 Vg;uy; 2016 
d. 13 gpg;utup 2016  e. tpil njhpatpy;iy 

 
47. Consider the following statements. 

Assertion (A):In India, the per capita availability of fruits and vegetable is low. 
Reason (R): In India, the post-harvest losses accounts for about 25% to 30% of the 
production. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): ,e;jpahtpy; jdpegUf;Ff; fpilf;ff; $ba goq;fs; kw;Wk; fha;fwpfspd; 
msT kpff;FiwT. 
fhuzk; (R): ,e;jpahtpy; 25% Kjy; 30% tiuapyhd ,og;Gfs; mWtilf;Fg; 
gpd;dhy; Vw;gLfpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 

 
48. Consider the following statements. 

I. The Chelliah committees report had suggested 50% of reduction in import 
duties. 

II. The 1991-92 budget had reduced the peak rate of import duty from more 
than 300% to 150%. 

a. I, II are correct  b. I is correct   c. II is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. nry;iyah FO mwpf;ifahdJ ,wf;Fkjpf;fhdj; jPu;itfis cr;r 

msthf 50% Fiwf;fg; gupe;Jiuj;jJ. 
II. 1991-92 Mk; Mz;Lf;fhd epjp mwpf;ifapy; ,wf;Fkjp tup 300% ypUe;J 

150% Mff; Fiwf;fg;gl;lJ. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 

 
49. Consider the following statements. 

I. The special economic zones policy was announced in April 2001. 
II. The special Economic Zones Act was enacted in 2005. 
a. I, II are correct  b. I is correct   c. II is correct  
d. I, II are incorrect  e. Answer not known 
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gpd;tUk; $w;Wfis Muha;f. 
I. rpwg;Gg; nghUshjhu kz;lyf;nfhs;if Vg;uy; 2001-,y; cUthf;fg;gl;lJ. 
II. rpwg;Gg; nghUshjhu kz;lyr;rl;lk; 2005-,y; ,aw;wg;gl;lJ. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 

 
50. In 1965, Asia’s first export processing zone (Epz) setup in 

a. Mumbai   b. Kantla    c. Vishakapatnam 
d. Paradip   e. Answer not known 
1965-Mk; Mz;L Mrpahtpd; Kjy; Vw;Wkjp nrayhf;f kz;lyk; Jtq;fg;gl;l ,lk;. 
a. Kk;ig   b. fhz;l;yh    c. tprhfg;gl;ldk; 
d. ghujPg;   e. tpil njhpatpy;iy 

 
51. Consider the following statements. 

I. The Narasimman Committee was constituted in 1991. 
II. It was proposed to cut down the SLR from 38.5% to 22% within a time span 

of three years. 
III. It was proposed to reduce CRR about 3 to 5% over a period of four years. 
a. I, II are correct  b. II is incorrect   c. II, III are correct 
d. all are correct  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. eurpk;kd; FO 1991 ,y; mikf;fg;gl;lJ. 
II. ,f;FO %d;whz;L fhy mstpy; SLR tpfpjj;ij 38.5% ypUe;J 22% Mf 

Fiwf;f gupe;Jiuj;jJ. 
III. ,f;FO CRR tpfpjj;ij ehd;F Mz;Lfspy; 3 Kjy; 5% Mf Fiwf;f 

Kaw;rpj;jJ. 
a. I, II rup   b. II jtW    c. II, III rup  
d. midj;Jk; rup  e. tpil njhpatpy;iy 

 
52. Who used the term “Hindu rate of growth” to refer the low economic growth rate 

of India? 
a. Krishna Menon  b. Rajkrishna  c. P.C. Mahalanobis  
d. Narammirao  e. Answer not known 
“,e;J tsu;r;rp tPjk;” vd;gjd; mbg;gilapy; ,e;jpahit Fiwthd nghUshjhu 
tsu;r;rpAila ehL vd;W tu;zpj;jtu; ahu;> 
a. fpU~;zNkdd;  b. uh[;fpU~;zh  c. P.C. nk`yNdhgp]; 
d. eurpk;kuht;   e. tpil njhpatpy;iy 

 
53. Which of the following statements is/are correct? 

i. Under employment is also called as Disguised unemployment. 
ii. Disguised unemployment is a situation where people work but no increase 

in production. 
a. i, ii  b. i  c. ii  d. none e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. Fiw NtiyAilik vd;gJ kiwKf Ntiyapd;ik vdg;gLfpwJ. 
ii. kiwKf Ntiyapd;ik vd;gJ njhopyhsu;fs; Ntiyapy; <Lgl;lhYk; 

cw;gj;jpasT mjpfupf;fhj epiyiaf; Fwpf;Fk;. 
a. i, ii  b. i  c. ii  d. VJkpy;iy  e. tpil njhpatpy;iy 
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54. Match the following 
Schemes    Year of launch 
A. NREP    1. 1983 
B. RLEGP    2. 1980 
C. Jawajar Rozgar Yojana  3. 1989 
D. MGNREGS   4. 2006 
 A B C D 
a. 1 3 2 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf. 
jpl;lq;fs;    njhlq;fpa Mz;L 
A. NREP    1. 1983 
B. RLEGP    2. 1980 
C. [t`u; Nuh[;fu;; Nah[dh 3. 1989 
D. MGNREGS   4. 2006  
 A B C D 
a. 1 3 2 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 

55. Match the following. 
Schemes     Year of launch 
A. Rajiv Awas Yojana   1. 2009 
B. National Rural Health Mission  2. 2005 
C. National Rural Livelihood Mission 3. 2011 
D. National Food Security Scheme 4. 2013 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3  e. Answer not known 
nghUj;Jf. 
jpl;lq;fs;     njhlq;fpa Mz;L 
A. uh[pt; Mth]; Nah[dh  1. 2009 
B. Njrpa eyj;jpl;lk;    2. 2005 
C. Njrpa Cuf tho;thjhu jpl;lk;  3. 2011 
D. Njrpa czTg; ghJfhg;G jpl;lk; 4. 2013 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3  e. tpil njhpatpy;iy 
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56. Consider the following statements. 
I. MUDRA provides loans at low rates to micro finance institutions and non-

Banking financial institutions. 
II. MUDRA scheme launched on 8th April 2015. 
a. I, II are correct  b. I is correct   c. II is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. Kj;uh tq;fp rpW> FW epjp epWtdq;fs; tq;fprhuh epjp epWtdq;fs; kw;Wk; 

eLj;ju epWtdq;fSf;F fld; toq;FfpwJ. 
II. Kj;uh jpl;lk; Vg;uy; 8> 2015-y; njhlq;fg;gl;lJ. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 

 
57. Which of the following statements is/are incorrect? 

i. The population density of Tamilnadu as per 2011 census is 555 per sq.km. 
ii. Tamilnadu ranks 7th in density among the Indian states. 
iii. The population density of India is 382 per sq. km. 
a. i, ii, iii  b. ii, iii   c. i, ii   
d. i, iii   e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. 2011-y; jkpo;ehl;bd; kf;fs;njhif mlu;j;jp xU rJu fpNyh kPl;lUf;F 555-

Mf cs;sJ. 
ii. ,e;jpa khepyq;fspy; kf;fs;njhif mlu;j;jpapy; jkpo;ehL 7tJ ,lj;jpy; 

cs;sJ. 
iii. kf;fs;njhif mlu;j;jpapy; Njrpa ruhrup 382. 
a. i, ii, iii  b. ii, iii   c. i, ii   
d. i, iii   e. tpil njhpatpy;iy 

 
58. Choose the correct statements about Tamilnadu. 

i. It has seven agro climatic zones. 
ii. It is the largest producer of loose flowers. 
iii. Fourth largest producer of fruits. 
iv. At present, Tamilnadu is the India’s second biggest producer of rice, next 

only to West Bengal. 
a. i, ii, iii   b. i, ii, iv   c. i, iii   
d. all the above  e. Answer not known 
jkpo;ehL gw;wp rupahd $w;wpidj; Nju;e;njL.  
i. VO Ntshz; fhyepiy kz;lyq;fs; cs;sd. 
ii. Njrpa mstpy; cjpupG+f;fs; kpf mjpfk; cw;gj;jp nra;Ak; khepyk;. 
iii. goq;fs; cw;gj;jpapy; ehd;fhkplj;jpy; cs;sJ. 
iv. jw;NghJ ,e;jpahtpd; ney; cw;gj;jpapy; ,uz;lhtJ ngupa cw;gj;jpahsuhf 

Nkw;F tq;fj;jpw;F mLj;jjhf cs;sJ. 
a. i, ii, iii   b. i, ii, iv   c. i, iii   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 

59. Chennai is referred to as the ____. 
a. Health capital of India   b. Banking capital of India 
c. Detroit of Asia    d. All the above 
e. Answer not known 
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nrd;id ____ vd;W miof;fg;gLfpd;wJ. 
a. ,e;jpahtpd; kUj;Jtj; jiyefuk; b. ,e;jpahtpd; tq;fpj; jiyefuk; 
c. Mrpahtpd; nll;uha;l;   d. Nkw;$wpa midj;Jk; 
e. tpil njhpatpy;iy 

 
60. Which of the following is/are the leading producer of leather? 

a. Ranipet   b. Ambur   c. Vaniyambadi  
d. All the above  e. Answer not known 
gpd;tUtdtw;Ws; Njhy; nghUl;fs; cw;gj;jpapy; Kd;dzp tfp;g;gJ. 
a. uhzpg;Ngl;il  b. Mk;G+u;   c. thzpak;ghb  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 

61. Match the following 
Places    Industrial Cluster 
A. Rajapalayam  1. Lorry fleet operators 
B. Sankagiri   2. Borewell drilling services 
C. Tiruchengode  3. Surgical cotton products 
D. Karur   4. Coach building 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 1 2 4 
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf. 
miktplk;   njhopy; njhFg;Gfs; 
A. uh[ghisak;  1. yhup fyj;njhFjp 
B. rq;ffpup   2. Mo;JisapLk; gzpfs; 
C. jpUr;nrq;NfhL  3. gUj;jp mWit rpfpr;irg; nghUl;fs; 
D. f&u;   4. Nfhr; gpy;bq; 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 1 2 4 
d. 3 2 1 4 
e. tpil njhpatpy;iy 

 

62. Match the following 
A. Steel City    1. Salem 
B. Knitting City   2. Tirupur 
C. Little Japan   3. Sivakasi 
D. Pump City   4. Coimbatore 
 A B C D 
a.  1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 3 2 1 4 
e. Answer not known 
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nghUj;Jf. 
A. v/F efuk;   1. Nryk; 
B. gpd;dyhil efuk;   2. jpUg;G+u; 
C.  Fl;b [g;ghd;   3. rptfhrp 
D. fhw;wOj;j tpirf;Foha; efuk; 4. Nfhak;Gj;J}u; 
 A B C D 
a.  1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 3 2 1 4  e. tpil njhpatpy;iy 

 
63. Consider the following statements. 

Assertion (A): Tamilnadu is known as the “Yarn bowl” of the country. 
Reason (R):  Tamilnadu accounting for 41% of India’s cotton yarn  
   production. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A):  jkpo;ehL ,e;jpahtpd; E}y; fpz;zk; vd miof;fg;gLfpwJ. 
fhuzk; (R): ,e;jpa mstpy; nkhj;j cw;gj;jpapy; 41% E}y; jkpo;ehl;by;  
   cw;gj;jp nra;ag;gLfpd;wd. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 

 

64. Consider the following statements. 
Assertion (A): Thoothukudi is known as “Gateway of Tamilnadu”. 
Reason (R):Thoothukudi is the major chemical producer in Tamilnadu. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): J}j;Jf;Fb “jkpo;ehl;bd; EioTthapy;” vd;W miof;fg;gLfpwJ. 
fhuzk; (R): jkpo;ehl;bd; Ntjpg;nghUl;fs; cw;gj;jp ikakhf J}j;Jf;Fb 
tpsq;FfpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 
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65. Consider the following statements. 
I. Tamilnadu ranks first in GER of higher education. 
II. The GER of higher education in Tamilnadu is 49.6% 
a. I, II are correct  b. I is correct    c. II is correct  
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. cau;fy;tpf;fhd nkhj;j Nru;f;if tpfpjj;jpy; jkpo;ehL Kjyplj;jpy; 

cs;sJ. 
II. jkpo;ehl;bd; nkhj;j Nru;f;if tPjk; 49.6% 
a. I, II rup   b. I rup     c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy  

 
66. Choose the correct statements. 

i. Tamilnadu has three major ports. 
ii. It has one intermediate port in Nagapattinam. 
iii. It has 18 minor ports. 
iv. Chennai port is an artificial harbour and the second principal port in the 

country for handling containers. 
v. Tuticorin port was recently converted from an intermediate port to a major 

port. 
a. i, ii, iii   b. i, iii, iv, v   c. i, ii, iv  
d. all the above  e. Answer not known 
rupahdf; $w;wpidj; Nju;Tnra;f. 
i. jkpo;ehl;by; %d;W ngupa JiwKfq;fs; cs;sd. 
ii. ehfg;gl;bdj;jpy; xU eLj;ju JiwKfk; cs;sJ. 
iii. jkpo;ehl;by; 18 rpwpa JiwKfq;fs; cs;sd. 
iv. nrd;id JiwKfk; fd;nlapdu;fisf; ifahSk; jpwd; nfhz;l 

,e;jpahtpd; ,uz;lhtJ Kf;fpar; nraw;ifj; JiwKfk;. 
v. J}j;Jf;Fb JiwKfk; rkPgj;jpy; ,ilepiy JiwKfj;jpypUe;J nghpa 

JiwKfkhf khw;wg;gl;lJ 
a. i, ii, iii   b. i, iii, iv, v   c. i, ii, iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
67. Which district in Tamilnadu has highest sex ratio? 

a. Chennai    b. Tiruchirappalli  c. Nilgris   
d. Kanniyakumari  e. Answer not known 
jkpo;ehl;by; mjpf ghypdtpfpjk; cs;s khtl;lk;? 
a. nrd;id   b. jpUr;rpuhg;gs;sp  c. ePyfpup   
d. fd;dpahFkup  e. tpil njhpatpy;iy 

  
68. Net Domestic product is represented as  

a. GNP – depreciation allowance 
b. NNP – Indirect taxes + subsidies 
c. GDP – Depreciation 
d. GDP + Net Factor income from Abroad 
e. Answer not known 
epfu cs;ehl;L cw;gj;jp vt;thW tiuaWf;fg;gLfpwJ? 
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a. GNP – Nja;khd fopT 
b. NNP – kiwKftup + khdpak; 
c. GDP – Nja;khdk; 
d. GDP + ntspehl;bypUe;J fpilf;Fk; epfu tUkhdk; 
e. tpil njhpatpy;iy 

 
69. Which of the following statements is/are incorrect? 

i. Per capita income = National income / population 
ii. Real income is the buying power of the nominal income. 
iii. National income is the Final Value of goods and Services Produced and 

expressed in terms of money at Market prices. 
a. i only  b. ii and iii only  c. iii only   
d. none  e. Answer not known 
gpd;tUk; $w;Wfspy; jtwhdit vit? 

i. jyhtUkhdk; = 
Njrpa tUkhdk;

kf; fs; njhif
 

ii. cz;ik tUkhdk; vd;gJ thq;Fk; rf;jpf;fhd ngausT tUkhdk; MFk;. 
iii. Njrpa tUtha; vd;gJ xU Mz;by; cw;gj;jp nra;ag;gl;l KbTw;w 

gz;lq;fs; kw;Wk; gzpfspd; nkhj;j gzkjpg;ig re;ij tpiyapy;; 
kjpg;gpLtjhFk;. 

a. i kl;Lk;  b. ii kw;Wk; iii kl;Lk;  c. iii kl;Lk;    
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
70. Choose the correct statements. 

i. GDP deflator is an index of price changes of goods and services included 
in GDP. 

ii. GDP deflator = 
Nominal GDP

Real GDP
 × 100 

a. i, ii   b. i only   c. ii only   
d. none  e. Answer not known  
rupahd $w;wpidj; Nju;e;njL. 
i. GDP Fiwg;ghd; vd;gJ GDP apy; Fwpg;gpl;Ls;s gz;lq;fs; kw;Wk; 

gzpfspd; tpiykhw;w FwpaPl;nlz;. 

ii. GDP Fiwg;ghd; = 
GDP

GDP

gzkjpg; G 

cz;ik 
× 100 

a. i, ii   b. i kl;Lk;   c. ii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 

  
71. Identify the items not to be included in the income method of measuring National 

income? 
i. Transfer payments 
ii. Windfall gains 
iii. The receipts from the sale of second hand goods. 
a. i only   b. ii, iii   c. i, ii   
d. all the above  e. Answer not known 
tUkhdKiwapyhd Njrpa tUthapy; fzf;fpy; vLj;Jf;nfhs;shtw;iw 
milahsk; fhz;f. 
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i. khw;Wr; nrYj;Jiffs; 
ii. tPo;r;rp Mjhaq;fs; 
iii. ,uz;lhk; Kiw tpw;fg;gl;l nghUl;fspd; gzkjpg;G. 
a. i kl;Lk;   b. ii, iii   c. i, ii   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy  

 
72. Which of the following is wrongly matched? 

i. Product method  - Value added method 
ii. Income method  - inventory method 
iii. Expenditure method - Factor earning method 
a. i only  b. ii, iii   c. iii only   
d. ii only  e. Answer not known 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpait vit? 
i. cw;gj;jp Kiw   - kjpg;Gf; $Ljy; Kiw 
ii. tUkhd Kiw  - ruf;FKiw 
iii. nryT Kiw   - fhuzpfspd; Cjpa Kiw 
a. i kl;Lk;  b. ii, iii   c. iii kl;Lk;   
d. ii kl;Lk;  e. tpil njhpatpy;iy 

 
73. Which kind of unemployment results from massive and deep rooted changes in 

economic structure? 
a. Disguised unemployment  b. Structural unemployment 
c. Frictional unemployment   d. Technical unemployment 
e. Answer not known 
ve;j tif Ntiyapd;ik r%f mikg;gpy; Vw;gLk; ngupa khw;wq;fshy; Vw;gLfpwJ? 
a. kiwKf Ntiyapd;ik   b. mikg;Grhu; Ntiyapd;ik 
c. gpwo;r;rp Ntiyapd;ik   d. njhopy;El;g Ntiyapd;ik 
e. tpil njhpatpy;iy 

 
74. Choose the correct statements. 

i. In India, currency notes are issued by the Reserve Bank of India. 
ii. RBI publishes information for three alternative measures of money supply. 
iii. The coins are issued by the Ministry of Finance, Government of India. 
a. i and ii  b. ii and iii   c. i and iii   
d. i, ii and iii  e. Answer not known 
rupahd $w;wpidj; Nju;e;njL> 
i. ,e;jpahtpy; fhfpjg; gzj;ij upru;t; tq;fp ntspapLfpwJ. 
ii. ,e;jpa upru;t; tq;fp gz mspg;gpy; %d;W tifapyhd mstPLfis 

nra;fpd;wJ. 
iii. ,e;jpahtpy; ehzaq;fs; kj;jpa murpd; epjpj;Jiwapdhy; 

ntspaplg;gLfpd;wJ. 
a. i kw;Wk; ii  b. ii kw;Wk; iii   c. i kw;Wk; iii    
d. i, ii kw;Wk; iii e. tpil njhpatpy;iy 

 
75. Which is the fraction of the total demand and time deposits of the commercial 

banks in the form of specified liquid assets? 
a. CDR  b. RDR   c. CRR   
d. SLR   e. Answer not known 
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tzpf tq;fpfspy; ,Uf;Fk; nkhj;j Nfl;G kw;Wk; fhy itg;Gfs; vd;w tpfpjk;? 
a. nuhf;f itg;G tpfpjk;  b. nuhf;f ,Ug;G itg;G tpfpjk; 
c. nuhf;f ,Ug;G tpfpjk;  d. rl;lG+u;t ePu;ik tpfpjk; 
e. tpil njhpatpy;iy 

 
76. Choose the correct statements about inflation 

i. The general level of prices for goods and services is rising 
ii. The Purchasing power of currency is Falling 
iii. The value of money is rising 
a. (i) and (ii)   b. (ii) and (iii)  c. (i) and (iii)  
d. (i), (ii) and (iii)  e. Answer not known 
gztPf;fk; gw;wpa $w;Wfspy; rupahdit vit? 
i. gz;lq;fs; kw;Wk; gzpfs; kPjhd nghJtpiykl;l mjpfupg;G. 
ii. gzj;jpd; thq;Fk; rf;jp Fiwtijf; Fwpf;fpwJ. 
iii. gzj;jpd; kjpg;G cau;fpwJ. 
a. (i) kw;Wk; (ii)  b. (ii) kw;Wk; (iii)  c. (i) kw;Wk; (iii)  
d. (i), (ii) kw;Wk; (iii)  e. tpil njhpatpy;iy 

 
77. Which of the following is incorrectly matched? 

Types      Inflation rate 
 i) Walking inflation   - 5% to 10% 
 ii) Running inflation  - 10% to 20% 
 iii) Galloping inflation  - 20% to 100% 
 a. (i) and (ii) only  b. (i) only   c. (ii) only   

d. none   e. Answer not known 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpait vit? 

 tiffs;   gztPf;f tPjk; 
 i) elf;Fk; gztPf;fk;  - 5% Kjy; 10% tiu 
 ii) XLk; gztPf;fk;  - 10% Kjy; 20% tiu 
 iii) jhTk; gztPf;fk;  - 20% Kjy; 100% tiu 
 a. i kw;Wk; ii kl;Lk;  b. i kl;Lk;   c. ii kl;Lk;   

d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

78. The cause of inflation includes 
i. Increase in Money Supply 
ii. Sale of Government securities in the open market 
iii. Deficit Financing  
iv. Increase in Disposable income 
v. Decrease in consumer spending  
a. (i), (ii), and (iv)  b. (ii) and (v)   c. (i), (iii) and (iv)  
d. (i), (iv) and (v)   e. Answer not known 
gztPf;fj;jpw;fhd fhuzq;fs; vit? 
i. gz mspg;G cau;T 
ii. ntspr;re;ijapy; muR gj;jpuq;fis tpw;wy; 
iii. gw;whf;Fiw epjpahf;fk;. 
iv. nrytplj;jFe;j tUthapy; cau;T 
v. Efu;Nthu; nrytpy; FiwT 
a. i, ii kw;Wk; iv  b. ii kw;Wk; v   c. i, iii kw;Wk; iv  
d. i, iv kw;Wk; v  e. tpil njhpatpy;iy 
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79. Disposable income may increase with  
i. Rise in national income    ii. Reduction in taxes  
iii. Rise in the saving of the people 
a. (i) and (ii) only  b. (ii) and (iii) only  c. (i) and (iii) only  
d. (i), (ii) and (iii)  e. Answer not known 
nrytplj; jFe;j tUtha; vjDld; cau;fpwJ.  
i. Njrpa tUtha; mjpfupg;G   ii. tuptpfpj Fiwg;G 
iii. kf;fspd; Nrkpg;G mjpfupj;jy; 
a. i kw;Wk; ii kl;Lk;  b. ii kw;Wk; iii kl;Lk;  c. i kw;Wk; iii kl;Lk;  
d. i, ii kw;Wk; iii  e. tpil njhpatpy;iy 

 
80. The measures to control inflation includes  

i. Higher CRR, SLR and Bank rate  
ii. Consumer credit control  
iii. Lower Repo rate  
iv. Higher Reverse Report Rate 
v. Sale of government securities in the open market.  
a. (i), (ii), (iv)   b. (i), (ii), (iii)   c. (ii), (iii), (v)  
d. (i), (ii), (iv), (v)  e. Answer not known 
gztPf;fj;ij fl;Lg;gLj;Jk; topKiwfs; vit? 
i. nuhf;f ,Ug;G tpfpjk;> rl;lG+u;t ePu;ik tpfpjk; kw;Wk; tq;fp tpfpjj;ij 

cau;j;Jjy;. 
ii. Efu;Nthu; flidf; fl;Lg;gLj;jy;. 
iii. nug;Ngh tpfpjj;ijf; Fiwj;jy;. 
iv. kPs; thq;fy; tpfpjj;ij mjpfupj;jy;. 
v. ntspr;re;ijapy; muR gj;jpuq;fis tpw;wy;. 
a. (i), (ii), (iv)   b. (i), (ii), (iii)   c. (ii), (iii), (v)  
d. (i), (ii), (iv), (v)  e. tpil njhpatpy;iy 

 
81. Fiscal measures to control inflation includes  

i. Reduction of government expenditure  
ii. Public borrowing  
iii. Enhancing taxation 
a. (i), (ii), (iii)  b. (i), (iii)   c. (i), (ii)   
d. (ii), (iii)  e. Answer not known 
gztPf;fj;jpw;fhd epjpapay; eltbf;iffs; vit? 
i. muR nrytpdq;fisf; Fiwj;jy;. 
ii. nghJkf;fsplkpUe;J fld;fisg; ngWtJ. 
iii. tuptpjpg;Gfis tpupthf;FtJ. 
a. (i), (ii), (iii)  b. (i), (iii)   c. (i), (ii)   
d. (ii), (iii)  e. tpil njhpatpy;iy 

 
82. Consider the following statements: 

I. Monetary measures are adopted by the central bank of the country. 
II. Fiscal policy is now recognized as an important instrument to tackle an 

inflation situation 
a. I only correct   b. II only correct    c. Both are correct  
d. Both are incorrect  e. Answer not known  
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gpd;tUk; $w;wpid Muha;f. 
I. gztpay; Kiwfs; ehl;bd; ika tq;fpapdhy; mky;gLj;jg;gLk; KiwahFk;. 
II. gztPf;f #o;epiyia fl;Lg;gLj;Jtjpy; epjpf; nfhs;ifAk; mjd; 

fUtpfSk; Kf;fpag; gq;F tfpf;fpwJ. 
a. I rup    b. II rup    c. ,uz;Lk; rup 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
83. Which of the following statements is/are incorrect? 

i. Disinflation is the process of reversing inflation without creating 
unemployment of reducing output in the economy.  

ii. Stagflation is a combination of stagnant economic growth, high 
unemployment and high inflation.  

a. (i), (ii)  b. (i) only   c. (ii) only   
d. none  e. Answer not known 
gpd;tUtdtw;Ws; jtwhdf; $w;wpidj; Nju;e;njL. 
i. Ntiy tha;g;gpid ghjpf;fhj tifapy; fld;fis fl;Lg;gLj;Jtjd; %yKk; 

gztPf;fj;jpid Fiwj;J tUtJ kPs;gztPf;fk;. 
ii. Njf;ftPf;fk; vd;gJ nghUshjhu tsu;r;rpapy; Njf;fepiyAk;> 

Ntiytha;g;gpd;ikAk;> mjpf mstpyhd gztPf;fKk; xd;wpize;j 
#o;epiy 

a. (i)> (ii)  b. (i) kl;Lk;   c. (ii) kl;Lk;  
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
84. Which was the First Bank of India under British Rule? 

a. Bank of Bengal    b. Bank of Bombay 
c. Imperial Bank of India   d. Bank of Hindustan 
e. Answer not known 
gphpl;b~; Ml;rpapy; epWtg;gl;l ,e;jpahtpd; Kjy; tq;fp? 
a. tq;fhs tq;fp   b. Kk;ig tq;fp 
c. ,e;jpa ,k;gPupay; tq;fp  d. ,e;J];jhd; tq;fp 
e. tpil njhpatpy;iy 

 

85. Choose the correct statements: 
i. Imperial Bank of India was established in 1921.  
ii. It was changed into State Bank of India in 1949. 
iii. Reserve Bank of India was established in 1935.  
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. 1921-,y; ,e;jpa ,k;gPupay; tq;fp epWtg;gl;lJ. 
ii. ,J 1949-,y; ghuj];Nll; tq;fpahf khw;wg;gl;lJ. 
iii. ,e;jpa upru;t; tq;fp 1935-,y; Vw;gLj;jg;gl;lJ. 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 

 

86. Which of the following statements about Non-Banking Financial Institution is/are 
incorrect?  
i. It is a Financial institution that does not have a full banking license.  
ii. It is supervised by the central Bank 
iii. It operate in both the money and the capital markets. 
iv. It mobilize people's savings and use the funds to Finance expenditure on 

investment activities.  
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a. i and ii only   b. ii only    c. iii and iv only   
d. iv only    e. Answer not known 
gpd;tUk; $w;Wfspy; tq;fpay;yhj epjp epWtdq;fs; gw;wp jtwhdit vit? 
i. ,it KO tq;fpf;fhd cupkk; nfhz;lJ my;y 
ii. ,it ikatq;fpahy; fz;fhzpf;fg;gLfpd;wd. 
iii. ,it gz kw;Wk; %yjd mq;fhbapYk; nray;gLfpd;wd. 
iv. kf;fspd; Nrkpg;igj; jpul;b KjyPl;L eltbf;iffSf;F epjpAjtp mspf;fpwJ. 
a. i kw;Wk; ii kl;Lk;  b. ii kl;Lk;   c. iii kw;Wk; iv kl;Lk;  
d. iv kl;Lk;   e. tpil njhpatpy;iy 

 
87. Choose the correct statements.  

i. Headquarter of RBI moved from Calcutta to Mumbai in 1937. 
ii. CD Deshmuk was the First Governor of RBI.  
iii. RBI also called  "Lender of Last Resort". 
 a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii  e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. 1937-y; RBI -,d; jiyikafk; fy;fj;jhtpypUe;J Kk;igf;F khw;wg;gl;lJ. 
ii. RBI-d; Kjy; ftu;du; CD Nj~;Kf;. 
iii. RBI filrp epiyf;fld; <Nthd; vd;Wk; miof;fg;gLfpd;wJ. 
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii  e. tpil njhpatpy;iy 

 
88. Consider the following statements:  

I. As per section 22 of banking Regulation Act, every Bank has to obtain a 
banking license from RBI to conduct banking business in India.  

II. For settlement of Banking transactions RBI manages 16 clearing houses.  
a. I only correct   b. II only correct   c. Both are correct   
d. Both are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. tq;fpfs; Kiwg;gLj;Jjy; rl;lk;> gpupT 22d;gb xt;nthU tzpf tq;fpAk; 

,e;jpahtpy; tq;fpj;njhopy; nra;a ikatq;fpaplk; cupkk; ngw Ntz;baJ 
mtrpak;. 

II. tq;fpfSf;fpilNa elf;Fk; guptu;j;jidfis 16 jPh;tfq;fisf; nfhz;L 
RBI rkd; nra;fpwJ. 

a. I kl;Lk; rup   b. II kl;Lk; rup  c. ,uz;Lk; rup  
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
89. Match the following:  

A. FEMA Act      1. 1995 
B. Banking ombudsman Scheme    2. 2007 
C. Banking Regulation act     3. 1999 
D. Payment and settlement systems act   4. 1949  
 A B C D 
a. 1 2 4 3  
b. 3 2 4 1  
c. 3 1 4 2  
d. 1 3 4 2  
e. Answer not known 
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nghUj;Jf. 
A. FEMA rl;lk;     1. 1995 
B. tq;fp Fiwj;jPu;g;gha jpl;lk;   2. 2007 
C. tq;fp newpKiwr; rl;lk;   3. 1999 
D. nrYj;Jjy; kw;Wk; jPu;Tr; rl;lk;  4. 1949 
 A B C D 
a. 1 2 4 3  
b. 3 2 4 1  
c. 3 1 4 2  
d. 1 3 4 2 
e. tpil njhpatpy;iy  

 
90. The Qualitative credit control measures of RBI includes  

i. Moral suasion   ii. Regulation of consumer's credit  
iii. Rationing of credit  iv. Direct Action  
a. i  and ii    b. i, iii and iv    c. i and iii  
d. all the above   e. Answer not known 
RBI –d; fld; jd;ikf; fl;Lg;ghl;L Kiwfs;  
i. newpKiw J}z;ly;  ii. Efu;Nthu; flid newpg;gLj;Jjy; 
iii. fld; gq;fPL   iv. Neub eltbf;if  
a. i kw;Wk; ii   b. i, iii kw;Wk; iv   c. i kw;Wk; iii  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
91. Which is specially intended to help the central Bank in controlling the volume of 

credit used for speculation in securities?  
a. Regulation of Consumer's credit  
b. Moral suasion  
c. Rationing of credit  
d. Marginal requirements 
e. Answer not known 
 gpd;tUtdtw;Ws; vk;Kiw gq;Fr;re;ijapy; Cf thzpgj;jpy; <LgLtijf; 
fl;Lg;gLj;j Vw;gLj;jg;gl;Ls;sJ? 
a. Efu;Nthu; flid newpg;gLj;jy; 
b. newpKiw J}z;ly; 
c. fld; gq;fPL 
d. tpspk;Gj; njhif Njitia khw;Wjy; 
e. tpil njhpatpy;iy 

 
92. Consider the following statements about 20 points programme. 

I. It was implemented by Mrs. Indira Gandhi during the emergency period. 
II. It provide institutional credit to farmers and artisans in rural areas. 
III. Regional Rural Banks were established in 1976. 
a. I, II are correct  b. I, III are correct  c. II, III are correct  
d. I, II and III are correct e. Answer not known 
20 mk;rjpl;lk; Fwpj;j $w;Wfis Muha;f. 
I. ,J Kd;dhs; gpujku; ,e;jpuhfhe;jpahy; mtruepiyfhy fl;lj;jpy; 

mky;gLj;jg;gl;lJ. 
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II. fpuhkg;Gwq;fspy; trpf;Fk; tptrhapfs; kw;Wk; iftpidQh;fSf;F fld; 
toq;FfpwJ. 

III. 1976-Mk; Mz;L tl;lhu Cuf tq;fpfs; epWtg;gl;ld. 
a. I, II rup   b. I, III rup   c. II, III rup   
d. I, II, III rup   e. tpil njhpatpy;iy 

 
93. Which of the following statements about NABARD is/are incorrect? 

i. It was set up in July 1982 by an act of parliament. 
ii. It is linked organically with the Reserve Bank of India. 
iii. GOI nominated two of its Central Board Directors on the board of 

NABARD. 
iv. A Deputy Governor of RBI is appointed as chairman of NABARD 
a. i and ii   b. iii and iv   c. iii only   
d. iv only   e. Answer not known 
eghu;L gw;wpa $w;Wfspy; jtwhdit vit? 
i. [_iy 1982-,y; ghuhSkd;w rl;lg;gb epWtg;gl;lJ. 
ii. ,e;jpa upru;t; tq;fpAld; ,izf;fg;gl;l epWtdk;. 
iii. ,e;jpa murpd; ika ,af;Feu; FOtpypUe;J eghu;L tq;fpapd; ,af;Feu; 

FOTf;F ,Utu; gupe;Jiuf;fg;gLfpd;wdu;. 
iv. upru;t; tq;fpapd; Jiz MSeu; eghu;bd; jiytuhf ,Ug;ghu;. 
a. i kw;Wk; ii   b. iii kw;Wk; iv   c. iii kl;Lk;   
d. iv kl;Lk; 

 
94. The cooperative credit structure is ____ in India. 

a. Two-tier  b. Three-tier   c. Four-tier   
d. Five-tier  e. Answer not known  
,e;jpahtpy; $l;LwT rq;fq;fs; ___ topahf tptrhaj;jpw;fhd flid toq;FfpwJ. 
a. ,uz;lLf;F  b. %d;wLf;F   c. ehd;fLf;F  
d. Ie;jLf;F  e. tpil njhpatpy;iy 

 

95. Which was the first in the chain of establishment of financial corporations to 
provide financial assistance for industrial development? 
a. IFCI  b. ICICI   c. IDBI   
d. SIDCO  e. Answer not known 
njhopy;epjp kw;Wk; Nkk;ghl;L epWtd rq;fpypj; njhlupy; njhopy; tsh;r;rpf;fhf 
epjpAjtp toq;f Kjd;ikahf Muk;gpf;fg;gl;l epWtdk; ____. 
a. IFCI  b. ICICI   c. IDBI   
d. SIDCO  e. tpil njhpatpy;iy 

 

96. Match the following 
A. IFCI  1. 1948 
B. ICICI  2. 1955 
C. IDBI  3. 1964 
D. RRB  4. 1975 
E. EXIM Bank 5. 1982 
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 A B C D E 
a. 1 2 3 4 5 
b. 3 2 1 4 5 
c. 1 3 2 4 5 
d. 3 1 5 4 2 
e. Answer not known 
nghUj;Jf. 
A. IFCI  1. 1948 
B. ICICI  2. 1955 
C. IDBI  3. 1964 
D. RRB  4. 1975 
E. EXIM Bank 5. 1982 
 A B C D E 
a. 1 2 3 4 5 
b. 3 2 1 4 5 
c. 1 3 2 4 5 
d. 3 1 5 4 2 
e. tpil njhpatpy;iy 

 
97. Choose the correct statements about Monetary policy. 

i. It is the macroeconomic policy. 
ii. The initiation of monetary policy was made by J.M.Keynes 
iii. It gained its significance after the World War – II. 
a. i and ii  b. i and iii   c. ii and iii   
d. i, ii and iii  e. Answer not known 
gztpay; nfhs;if gw;wp rupahd $w;wpidj; Nju;enjL. 
i. ,J xU Ngupdg; nghUspay; nfhs;if. 
ii. gztpay; nfhs;ifia Kd;ndLj;jtu; J.M. fPd;]; 
iii. ,uz;lhk; cyfg;NghUf;Fg;gpd; Kf;fpaj;Jtk; ngw;wJ. 
a. i kw;Wk; ii  b. i kw;Wk; iii   c. ii kw;Wk; iii   
d. i, ii kw;Wk; iii e. tpil njhpatpy;iy 

 
98. Consider the following statements contractionary policy 

I. The contractionary monetary policy is dear money policy. 
II. It maintains short-term interest rates higher than usual. 
III. This slows short term economic growth and lessens inflation. 
a. I, II are correct  b. II, III are correct   c. I, III are correct 
d. All are correct  e. Answer not known 
RUf;f gztpay; nfhs;iffisg; gw;wpa $w;Wfis Muha;f. 
I. RUf;fg; gzf;nfhs;if mUikg; gzf;nfhs;if vdg;gLfpwJ. 
II. ,jpy; FWfpafhy tl;btpfpjk; elg;G tl;btpfpjj;ijtpl 

mjpfg;gLj;jg;gLfpwJ. 
III. ,J nghUshjhuj;jpd; FWfpafhy tsu;r;rpiaf; Fiwj;J gztPf;fj;jpidf; 

Fiwf;fpwJ. 
a. I, II rup   b. II, III rup    c. I, III rup  
d. midj;Jk; rup  e. tpil njhpatpy;iy 
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99. The objectives of monetary policy include. 
i. Price stability 
ii. Full employment 
iii. Stability of Exchange Rates 
iv. Equilibrium in the Balance of Payments 
a. i and ii   b. i, ii and iv    c. ii, iii and iv  
d. all the above  e. Answer not known 
gztpay; nfhs;ifapd; Nehf;fq;fs; vit? 
i. tpiyia epiyg;gLj;Jjy; 
ii. KO Ntiytha;g;G 
iii. guptu;j;jid tpfpjj;jpy; epiyj;jd;ik. 
iv. nrYj;Jifr; rkepiyapy; rkepiyia NgZjy;. 
a. i kw;Wk; ii   b. i, ii kw;Wk; iv   c. ii, iii kw;Wk; iv 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 

100. Which of the following statements about Demonetization is/are correct? 
i. It is the act of stripping a currency unit of its status as legal tender. 
ii. On 8th November 2016, the Indian PM announced the demonetization of all 

`500 and `1000 bank notes. 
a. i, ii   b. i only   c. ii only   
d. none  e. Answer not known 
gpd;tUk; $w;Wfspy; gzkjpg;G ePf;fk; Fwpj;J rupahdit vit? 
i. murpd; rl;lG+u;t gzj;njhFg;gpypUe;J Fwpg;gpl;l myfpyhd gzj;jpd; 

kjpg;gpid nry;yhJ vd mwptpf;Fk; nray;. 
ii. ,e;jpahtpy; 2016-Mk; Mz;L etk;gu;> 8 Mk; ehs; ,e;jpa gpujku; ` 500 

kw;Wk; ` 1000 kjpg;gpyhd fhfpjg; gzkjpg;G ePf;fj;jpid mwptpj;jhu;. 
a. i, ii   b. i kl;Lk;   c. ii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 

 

101. The components of Balance of payments includes. 
i. Current account ii. Capital account  iii. Official Settlements account 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
may;ehl;Lr; nrYj;jepiyapd; $Wfs; vit? 
i. elg;G fzf;F ii. %yjd fzf;F iii. ika tq;fp jPu;T fzf;F 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 

 
102. Match the following 

Organization   Evolution 
A. IDA   1. 1956 
B. ICSID   2. 1960 
C. IFC    3. 1958 
D. MIGA   4. 1966 
 A B C D 
a. 2 3 4 1 
b. 2 4 1 3 
c. 1 2 3 4 
d. 1 2 4 3 
e. Answer not known 
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nghUj;Jf. 
epWtdk;   Njhw;wk; 
A. IDA   1. 1956 
B. ICSID   2. 1960 
C. IFC    3. 1958 
D. MIGA   4. 1966 
 A B C D 
a. 2 3 4 1 
b. 2 4 1 3 
c. 1 2 3 4 
d. 1 2 4 3 
e. tpil njhpatpy;iy 

 
103. Match the following 

A. Free trade area   1. BENELUX 
B. Customs union   2. SAFTA 
C. Common market   3. ECM 
D. Economic union   4. EEU 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 3 1 4 
d. 3 4 2 1 
e. Answer not known 
nghUj;Jf. 
A. jilaw;w thzpfg;gFjp  1. BENELUX 
B. Rq;ftup xd;wpak;   2. SAFTA 
C. nghJr; re;ij   3. ECM 
D. nghUshjhu xd;wpak;  4. EEU 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 3 1 4 
d. 3 4 2 1 
e. tpil njhpatpy;iy 

 

104. Which of the following statements about SAARC is/are correct? 
i. It was established on 8th December 1985. 
ii. It has eight member countries 
iii. In April 2009 Afghanistan became its eighth member. 
a. i and ii  b. i and iii    c. ii and iii   
d. i, ii and iii  e. Answer not known 
rhu;f; mikg;G gw;wp $w;Wfspy; rupahdit vit? 
i. 8 brk;gu; 1985-md;W epWtg;gl;lJ. 
ii. ,J vl;L cWg;G ehLfisf; nfhz;Ls;sJ. 
iii. Vg;uy; 2009-,y; Mg;fhdp];jhd; vl;lhtJ cWg;gpduhdJ. 
a. i kw;Wk; ii  b. i kw;Wk; iii    c. ii kw;Wk; iii   
d. i, ii kw;Wk; iii e. tpil njhpatpy;iy 
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105. Consider the following statements. 
Assertion (A): The main objective of the BRICS is to use currency other than U.S. 
Dollar 
Reason (R):Dollar is a dominant currency and U.S can control the flow of dollar. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true, but (R) is false 
c. (A) is false, but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A):gpupf;]; mikg;G gd;dhl;L guptu;j;jidfspy; mnkupf;f lhyUf;F gjpyhf 
NtW ehl;L gzj;ij nfhz;LtUtij Kf;fpa Nehf;fkhff; nfhz;Ls;sJ. 
fhuzk; (R): mnkupf;f lhyu; xU Nkyhjpf;f ehzak; vd;gjhy; mjd;  
   Xl;lj;ij khw;W gzj;jpd; %yk; fl;Lg;gLj;jyhk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 

 
106. The instruments of fiscal policy includes. 

i. Taxes   ii. Subsidies  iii. Inflation 
iv. Public expenditure v. Public debt 
a. i, ii, v   b. ii, iii, iv   c. i, ii, iv, v   
d. All the above  e. Answer not known 
epjpf; nfhs;ifapd; fUtpfs; vit? 
i. tupfs;   ii. khdpaq;fs;  iii. gztPf;fk; 
iv. nghJr;nryT  v. nghJf;fld; 
a. i, ii, v   b. ii, iii, iv   c. i, ii, iv, v   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
107. Which of the following statements about Direct tax is/are correct? 

i. It is a tax levied on person’s income and wealth. 
ii. The burden of this tax cannot be shifted. 
iii. It is regressive in nature. 
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; Neub tupfs; gw;wp rupahdit vit? 
i. egupd; tUkhdk; kw;Wk; nry;tj;jpd; kPjhd tup tpjpg;G 
ii. tupapd; Rikia gpwUf;F khw;w ,ayhJ. 
iii. Nja;tPj jd;ik nfhz;lJ. 
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 

 
108. Consider the following statements. 

I. Direct tax helps in controlling the inflation. 
II. Indirect taxes push up price inflation. 
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a. I, II are correct  b. I is correct   c. II is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. Neubtup gztPf;fj;ijf; fl;Lg;gLj;j cjTfpwJ. 
II. kiwKf tup tpiy ce;J gztPf;fj;ij Vw;gLj;JfpwJ. 
a. I, II rup   b. I rup     c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 

 
109. Which of the following statements about Goods and service tax is/are correct? 

i. The GST was passed in the parliament on 29th March 2017. 
ii. The act came into effect on 1st July 2017. 
iii. GST is one indirect tax for the entire country. 
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; ruf;F kw;Wk; Nrit tup Fwpj;J rupahdit vit? 
i. ,r;rl;lk; 2017 khu;r; 29-y; ghuhSkd;wj;jhy; epiwNtw;wg;gl;lJ. 
ii. ,J [_iy 1> 2017 Kjy; eilKiwf;F te;jJ. 
iii. ,e;jpahtpy; fhzg;gl;l gy;NtW kiwKf tupfSf;F khw;whf xU thpahf 

nfhz;Ltug;gl;lJ 
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 

 
110. Consider the following statements. 

I. Under the GST regime the tax will be levied at the final point of sale. 
II. Interstate sales will be chargeable to Integrated GST. 
a. I, II are correct  b. I is correct   c. II is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. GST-d; fPo;> ,Wjp tpw;gidapd; Nky; tup Rkj;jg;gLfpwJ. 
II. khepy muRfSf;fpilNaahd tpw;gidapy; IGST – ahf kj;jpa murhy; 

t#ypf;fg;gLfpd;wJ. 
a. I, II rup   b. I rup    c. II rup    
d. I, II jtW   e. tpil njhpatpy;iy 

 
111. Which of the following statements is/are correct? 

i. GST is levied at the point of consumption. 
ii. Sales tax was multipoint tax with cascading effect. 
iii. VAT was multipoint tax with cascading effect. 
iv. GST is one point tax without cascading effect. 
a. i and ii   b. iii and iv   c. i, ii and iv  
d. i, ii, iii and iv  e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. GST tup Efu;tpd;NghJ tpjpf;fg;gLfpwJ. 
ii. tpw;gid tupahdJ mbj;js tpisTila gy;Kid tup. 
iii. VAT vdg;gLtJ mbj;js tpisTila gy;Kid tup. 
iv. GST vd;gJ mbj;js tpistpy;yhj xUKidtup. 
a. i kw;Wk; ii   b. iii kw;Wk; iv   c. i, ii kw;Wk; iv 
d. i, ii, iii kw;Wk; iv  e. tpil njhpatpy;iy 
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112. Which of the following is correctly matched? 

i. Article 112: Annual Financial Statement of Union Government. 
ii. Article 116: Definition of money bill. 
iii. Article 202: Annual Financial Statement of State Government. 
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. Answer not known 
gpd;tUtdtw;Ws; rupahfg; nghUe;jpait? 
i. tpjp 112 – kj;jpa murpd; tUlhe;jpu epjp mwpf;if. 
ii. tpjp 116 – gzkNrhjhtpw;fhd epjp mwpf;if. 
iii. tpjp 202 – khepy murpd; tUlhe;jpu epjp mwpf;if 
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 

 
113. Consider the following statements about zero base budget 

I. The Government of India presented First zero base budgeting in 1987-88. 
II. It involves fresh evaluation of expenditure in the government budget 

assuming it as a new item. 
a. I, II are correct  b. I is correct   c. II is correct   
d. I, II are incorrect  e. Answer not known 
g+[;a tuT nryT jpl;lk; gw;wpa gpd;tUk; $w;Wfis Muha;f. 
I. ,e;jpa muR 1987-88y; Kjy; G+[;a tuT nryTj; jpl;lj;ij jhf;fy; nra;jJ. 
II. ,jpy; xt;nthU nrytpdKk; Gjpajhff; fUjg;gl;L xt;nthU Mz;Lk; 

kjpg;gPLfs; nra;ag;gLk;. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 

 
114. Which of the following is called as “Lame duck budget”? 

a. Deficit budget  b. Zero base budget   c. Capital budget 
d. Vote-on-Account  e. Answer not known 
gpd;tUtdtw;Ws; nehz;b thj;JtuT nryTj;jpl;lk; vd;gJ 
a. gw;whf;Fiw gl;n[l;  b. G+[;a gl;n[l;  c. %yjd gl;n[l; 
d. epjpf;F thf;nfLg;G gl;n[l; e. tpil njhpatpy;iy 

 
115. Identify the incorrect definition. 

a. Budget Deficit = Total Expenditure – Total Revenue. 
b. Fiscal Deficit = Budget deficit + Government’s market borrowings and 

liabilities. 
c. Primary Deficit = Fiscal Deficit + Interest payments 
d. Revenue Deficit = Total Revenue Expenditure – Total Revenue Receipts 
e. Answer not known 
jtwhd tiuaiwiaj; Nju;e;njL. 
a. tuT nryT jpl;l gw;whf;Fiw = nkhj;j nryT – nkhj;j tuT 
b. epjpg;gw;whf;Fiw = tuT nryT jpl;l gw;whf;Fiw + murpd; mq;fhbf; fld;fSk; 

Vida nghWg;Gf;fSk; 
c. Kjd;ikg;gw;whf;Fiw = epjpg;gw;whf;Fiw + tl;b nrYj;Jjy; 
d. tUtha; gw;whf;Fiw = nkhj;j tUtha; nrytpdk; - nkhj;j tUtha; tuTfs; 
e. tpil njhpatpy;iy 
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116. Choose the correct pair. 
i. Union List  - Defence, Railways and Telegraph 
ii. State List  - Economic and Social Planning 
iii. Concurrent List -  Electricity and Trade Union 
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. Answer not known 
rupahd ,iziaj; Nju;e;njL. 
i. kj;jpa gl;bay; - ghJfhg;G> uapy;Nt kw;Wk; je;jp 
ii. khepy gl;bay; - nghUshjhu kw;Wk; r%f jpl;lkply; 
iii. nghJg;gl;bay; - kpd;rhuk; kw;Wk; tu;j;jf xd;wpak; 
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 

 
117. Consider the following statements. 

I. Under Article 269, Taxes levied and collected by the union but Assigned to 
the states. 

II. According to Article 268 of Indian constitution, Duties levied by the Union 
but collected and appropriated by the states. 

a. I, II are correct  b. I is correct   c. II is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. tpjp 269-kj;jpa murhy; tpjpf;fg;gl;L khepyq;fSf;F xJf;ff;$ba tsq;fs; 

njhlu;ghdJ. 
II. tpjp 268-kj;jpa murhy; tpjpf;fg;gl;L> Mdhy; khepy muR t#ypg;gJ kw;Wk; 

gad;gLj;JtJ njhlu;ghdJ. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 

 
118. Consider the following statements. 

I. Finance commission is a constitutional body. 
II. It was setup under Article 280 of the Indian constitution. 
III. It was established in the year 1950 
a. I, II are correct  b. II, III are correct   c. II is correct  
d. I, III are correct  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. epjpf;FO xU rl;lG+u;t mikg;G. 
II. ,J ,e;jpa murpayikg;gpd; tpjp 280-d; fPo; mikf;fg;gLfpwJ. 
III. ,J 1950-,y; epWtg;gl;lJ. 
a. I, II rup   b. II, III rup    c. II rup   
d. I, III rup   e. tpil njhpatpy;iy 

 
119. Match the following 

Finance Commission  Chairman 
A. First    1. K.C. Neogy 
B. Second    2. A.K. Chanda 
C. Third    3. K. Santhanam 
D. Fourth    4. P.V. Rajamannar 
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 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
d. 1 4 3 2 
e. Answer not known 
nghUj;Jf. 
epjpf;FO    jiytu; 
A. KjyhtJ    1. K.C. epNahfp 
B. ,uz;lhtJ    2. A.K. re;jh 
C. %d;whtJ    3. K. re;jhdk; 
D. ehd;fhtJ    4. P.V. uh[kd;dhu; 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
d. 1 4 3 2 
e. tpil njhpatpy;iy 

 
120. Match the following 

A. SDG 1  1. Zero Hunger 
B. SDG 2  2. No Poverty 
C. SDG 4  3. Gender Equality 
D. SDG 5  4. Quality Education 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf. 
A. SDG 1  1. gl;bdpapy;yh epiy 
B. SDG 2  2. tWikaw;w epiy 
C. SDG 4  3. ghypd kj;Jtk; 
D. SDG 5  4. jukhd fy;tp 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
121. The planning commission was constituted on ____. 

a. March 5, 1950  b. March 15, 1950   c. April 1, 1950 
d. April 15, 1950  e. Answer not known 
jpl;lf;FO epWtg;gl;l ehs; ____. 
a. khu;r; 5> 1950  b. khu;r; 15> 1950   c. Vg;uy; 1> 1950 
d. Vg;uy; 15> 1950  e. tpil njhpatpy;iy 
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122. Who made the first attempt in laying foundation for economic planning in India? 

a. Jayaprakash Narayan  b. Jawaharlal Nehru 
c. Subash Chandra Bose  d. Vishveshwarya 
e. Answer not known 
Kjd;Kjypy; ,e;jpahtpy; jpl;lkpLjYf;fhd mbj;jsj;ij mikj;jtu;? 
a. n[agpufh~; ehuhaz;  b. [t`u;yhy; NeU 
c. Rgh~; re;jpu Ngh];  d. tp];Nt];tua;ah 
e. tpil njhpatpy;iy 

 
123. Match the following 

A. Gandhian plan  1. 1944 
B. Peoples’ plan  2. 1950 
C. Bombay plan  3. 1940 
D. Sarvodaya plan  4. 1945 
 A B C D 
a.  1 2 4 3 
b. 1 4 3 2 
c. 1 3 4 2 
d. 1 2 4 3 
e. Answer not known 
nghUj;Jf. 
A. fhe;jpaj;jpl;lk;  1. 1944 
B. kf;fs;jpl;lk;  2. 1950 
C. ghk;Ng jpl;lk;  3. 1940 
D. ru;Nthjah jpl;lk;  4. 1945 
 A B C D 
a.  1 2 4 3 
b. 1 4 3 2 
c. 1 3 4 2 
d. 1 2 4 3 
e. tpil njhpatpy;iy 

 
124. Choose the correct statements. 

i. In 1938, the National planning commission was set up under the 
chairmanship of J.C. Kumarappa. 

ii. The Sarvodaya plan was inspired by Gandhian plan. 
iii. Jawaharlal Nehru was the first chairman of planning commission. 
a. i, ii   b. ii, iii   c. i, iii   
d. i, ii, iii  e. Answer not known 
rupahd $w;iwj; Nju;e;njL. 
i. 1938-y; J.C. Fkug;gh jiyikapy; Njrpa jpl;lf; fkpl;b mikf;fg;gl;lJ. 
ii. ru;Nthjahjpl;lk; fhe;jpaj; jpl;lj;jpd; cj;Ntfj;jhy; jahupf;fg;gl;lJ. 
iii. jpl;lf;FOtpd; Kjy; jiytu; [t`u;yhy; NeU. 
a. i, ii   b. ii, iii   c. i, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 
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125. Which of the following statements is/are correct? 
i. The Prime Minister is the chairperson of NITI Aayog. 
ii. The Vice-chairman of the NITI Aayog is the functional head. 
iii. The first vice chairman of NITI Aayog was Aravind panagariya. 
a. i, ii    b. i, iii    c. ii, iii   
d. all the above  e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. gpujkNu epjpMNahf; jiytu; 
ii. ,jd; Jizj;jiytNu nray;jiytu; 
iii. Kjy; Jizj;jiytu; mutpe;j; gdfhupah 
a. i, ii    b. i, iii    c. ii, iii   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
126. Which is responsible for coordination of statistical activities in the country? 

a. Central Statistical Office (CSO) 
b. National Statistical Office (NSO) 
c. National Sample Survey Office (NSSO) 
d. Ministry of Statistics and Programme Implementation (MOSPI) 
e. Answer not known 
ehL KOtjpYk; eilngWk; Gs;sptptu Nrfupg;Gfis xUq;fpizf;Fk; mikg;G 
vJ? 
a. kj;jpa Gs;spapay; fofk; 
b. Njrpa Gs;spapay; mYtyfk; 
c. Njrpa khjpup $nwLg;G tprhuiz mYtyfk; 
d. Gs;spapay; kw;Wk; jpl;l mkyhf;f mikr;rfk; 
e. tpil njhpatpy;iy 

 

127. Which organization prepares the estimates on physical capital formation? 
a. Central Statistical Organisation  b. Census Department 
c. Planning Commission   d. Finance Commission 
e. Answer not known 
gUg;nghUs; %yjdj;ij kjpg;gPL nra;Ak; mikg;G vJ? 
a. kj;jpa Gs;spapay; epWtdk;  b. kf;fs;njhif fzf;nfLg;Gj;Jiw 
c. jpl;lf;FO     d. epjpf;FO 
e. tpil njhpatpy;iy 

 

128. Consider the following statements. 
1. Kerala has the lowest birth rate. 
2. Uttar Pradesh has the highest death rate. 
3. Orissa has the highest birth rate 
Which of above are correct? 
a. 1 only   b. 1, 2     c. 1, 3 
d. 1, 2, 3   e. Answer not know 
gpd;tUk; $w;Wfis Ma;f 
1. Nfush Fiwe;jgl;r gpwg;G tpfpjj;ijf; nfhz;Ls;sJ 
2. cj;jpu gpuNjrk;> mjpfgl;r ,wg;G tpfpjj;ijf; nfhz;Ls;sJ 
3. xbrh> mjpfgl;r gpwg;G tpfpjk; nfhz;Ls;sJ 
Nkw;$wpatw;wpy; rhpahdit vit? 
a. 1 only   b. 1, 2     c. 1, 3 
d. 1, 2, 3   e. tpil njhpatpy;iy 
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129. Consider the following statements. 
1. Bihar is the most densely populated state in the country. 
2. Arunachal Pradesh has low density of population. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not know 
gpd;tUk; $w;Wfis Ma;f 
1. gPfhh;. ehl;bd; mjpfgl;r kf;fs; njhif mlh;j;jp nfhz;l khepykhFk; 
2. mUzhr;ry gpuNjrk; kpf Fiwthd kf;fs; njhif mlh;jpiag; ngw;Ws;sJ 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 

 
130. Which of the following are major changes after 1991 new economic policy 

1. Rapid industrialization 
2. Forex reserves started improving 
3. Infrastructural facilities started improving 
4. Pattern of consumption started improving 
Which of above are correct? 
a. 1, 2, 4   b. 1, 2, 3   c. 2, 3, 4 
d. All the above  e. Answer not know 
1991 Gjpa nghUshjhu nfhs;iff;F gpwF Vw;gl;l Kf;fpa khw;wq;fs; vit? 
1. tpiuthd njhopy;kakhjy; 
2. me;epa nrythzpapd; mjpfhpg;G  
3. cl;fl;likg;G mikg;Gfspd; Nkk;ghL 
4. Efh;T Kiw Nkk;ghL 
Nkw;fz;ltw;Ws; rhpahdit vit? 
a. 1, 2, 4   b. 1, 2, 3   c. 2, 3, 4 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
131. Consider the following statements. 

1. RBI started its operations on 1st January, 1935. 
2. It was permanently move to Mumbai by the year 1937. 
3. RBI was nationalised on 1st April, 1949. 
4. In August, 2018 currency worth Rs. 19 lakh crore are in circulation. 
Which of above are correct? 
a. 1, 3   b. 2, 4    c. 1, 2, 4 
d. All   e. Answer not known 
gpd;tUk; $w;Wf;fis Ma;f: 
1. ,e;jpa uprh;t; tq;fp (RBI) [dthp 1> 1935 Kjy; nray;gl njhlq;fpaJ.  
2. ,J 1937 Mk; Mz;L Kk;igf;F epue;jukhf ,lkhw;wg;gl;lJ. 
3. RBI Vg;uy;1> 1949 md;W ehl;Lilikahf;fg;gl;lJ. 
4. Mf];l; 2018 – y; &gha; 19 yl;rk; kjpg;gpyhd gzk; Gof;fj;jpy; cs;sJ. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1 , 3   b. 2 , 4    c. 1, 2, 4  
d. midj;Jk;  e. tpil njhpatpy;iy 

 
132. Consider the following statements. 

1. The term ‘Virtual water’ was introduced by Tony Allen in 1995. 
2. The water consumed in the production process of an agricultural or industrial 

product is called Virtual water. 
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3. India is 5th largest global fresh water user. 
4. India is the largest exporter of virtual water in the world. 
Which of above are correct? 
a. 1, 2   b. 1, 3, 4    c. 2, 3, 4 
d. 1, 2, 3, 4  e. Answer not known 
gpd;tUk; $w;Wf;fis Ma;f: 
1. ‘kiwePh;’ vDk; nrhy; Nlhdp Myd; vd;gtuhy; 1995Mk; Mz;L 

mwpKfg;gLj;jg;gl;lJ 
2. tptrhak; my;yJ njhopw;rhiy cw;gj;jpapd;NghJ Efug;gLk; ePh; kiwePh; 

vdg;gLfpwJ. 
3. cyfpNyNa ,e;jpah 5 tJ kpfg;nghpa ed;dPh; gad;ghl;lhsh; MFk;. 
4. ,e;jpah cyfpd; kpfg;nghpa kiwePh; Vw;Wkjpahsh; MFk;. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1, 2    b. 1, 3, 4    c. 2, 3, 4 
d. 1, 2, 3, 4  e. tpil njhpatpy;iy 

 
133. Match the following 

A. Salem   1. Bauxite 
B. Yercaud   2. Iron ore 
C. Kanjamalai  3. Magnesite 
D. Madurai   4. Molybdenum 
 A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 2 1 3 4 
d. 1 3 2 4 
e. Answer not known 
nghUj;Jf:  
A. Nryk;    1. ghf;irl;  
B. Vw;fhL    2. ,Uk;Gj;jhJ  
C. fQ;rkiy   3. Nkf;di]l;  
D. kJiu    4. khypg;bdk;  
 A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 2 1 3 4 
d. 1 3 2 4 
e. tpil njhpatpy;iy 

 
134. Choose the correct statement about PURA schemes. 

1. PURA strategy was given by former president Abdul Kalam 
2. Rural development should minimize the gap between rural and urban areas in 

provision of infrastructural facilities. 
a. 1 only  b. 2 only   c. 1, 2    
d. None  e. Answer not known 
PURA jpl;lk; njhlh;ghf rhpahd $w;iw Njh;e;njL. 
1. Kd;dhs; FbauR jiyth; mg;Jy; fyhk; PURA vd;w jpl;lj;ij 

mwpKg;gLj;jpdhh;. 
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2. fpuhkg;Gw kw;Wk; efug;gFjpfSf;F ,ilNaAs;s NtWghl;il Fiwf;f 
cs;fl;likg;G trjpfis Vw;gLj;j Ntz;Lk;. 

a. 1 kl;Lk;  b. 2 kl;Lk;   c. 1> 2   
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
135. Choose the correct one. 

i. FDI - Foreign Direct Investment 
ii. FPI - Foreign Portfolio Investment 
iii. FIPB - Foreign Investment Promotion Board  
a. i, ii only  b. i, iii only   c. ii, iii only   
d. i, ii, iii  e. Answer not known 
rhpahd nghUj;jj;ij Njh;e;njL. 
i. FDI - Foreign Direct Investment 
ii. FPI - Foreign Portfolio Investment 
iii. FIPB - Foreign Investment Promotion Board  
a. i, ii kl;Lk;  b. i, iii kl;Lk;   c. ii, iii kl;Lk;  
d. i, ii, iii  e. tpil njhpatpy;iy 

 
136. Match the following  

Products   Loans 
A. Shishu   1. 50000 – 5lakhs 
B. Tarun   2. 5 lakhs – 10 lakhs 
C. Kishor   3. upto 50000 
 A B C 
a. 1 2 3 
b. 3 1 2 
c. 2 3 1 
d. 3 2 1 
e. Answer unknown  
nghUj;Jf. 
nghUl;fs;  fld;fs; 
A. ~p~_  1. 50000 – 5 yl;rk; tiu 
B. jUz;  2. 5 yl;rk; - 10 yl;rk; tiu 
C. fpN~hh;  3. 50000 tiu 
 A B C 
a. 1 2 3 
b. 3 1 2 
c. 2 3 1 
d. 3 2 1 
e. tpil njhpatpy;iy 

 
137. Five year plans – Match the following  

A. First year plan   1. Mahalnobis model  
B. Second year plan       2. Garibo Hatao  
C. Third year plan    3. Gadgil Yojana 
D. Fifth year plan    4. Harrod domar model 
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A B C D 
a. 3 2 1 4 
b. 4 1 2 3 
c. 1 2 3 4 
d.  4 1 3 2 
e. Answer not known 

 Ie;jhz;L jpl;lq;fs; - nghUj;Jf 
 A. Kjy; Ie;jhz;L jpl;lk;  1. k`yNehgp]; khjphp 
 B. ,uz;lhk; Ie;jhz;L jpl;lk; 2. fhPgp `l;lhNth 
 C. %d;whk; Ie;jhz;L jpl;lk; 3. fhl;fpy; jpl;lk; 
 D. Ie;jhk; Ie;jhz;L jpl;lk; 4. `h;uhL Nlhkh; khjphp 
  A B C D 

a. 3 2 1 4 
b. 4 1 2 3 
c. 1 2 3 4 
d.  4 1 3 2 
e. tpil njhpatpy;iy 

 
138. Nationalisation of Banks – Objectives 

i. To attain social welfare 
ii. Supply of credit to desirable sections 
iii. Encourage banking among urban and industrial towns 
a. i, ii   b. i, ii, iii c. ii, iii   d. i, iii  e. Answer not known    
tq;fpfs; Njrpakakhf;fg;gl;ljd; Nehf;fq;fs; 
i. r%f eyk; miljy; 
ii. tpUk;gj;jf;f gphpTfSf;F fld; toq;Fjy; 
iii. efh;g;Gw kw;Wk; njhopy;Jiw efuq;fspy; tq;fpfis Cf;Ftpj;jy; 
a. i, ii   b. i, ii, iii c. ii, iii   d. i, iii  e. tpil njhpatpy;iy 

 
139. Regional Rural bank setup in 1975 to  

a. Established and Run by Centre alone 
b. Provide to NGO’s and NGOs lend to Self-help group 
c. Providing credit to small and marginal farmers, agricultural labourers and 

artisans 
d. Regulate the lenders and borrowers of Microfinance 
e. Answer not known 
tl;lhu tsh;r;rp tq;fp 1975 y; mikf;fg;gl;lJ 
a. kj;jpa murhy; kl;Lk; epWtg;gl;L elj;jg;gLfpwJ 
b. jd;dhh;t njhz;L epWtdq;fSf;F toq;Fjy; kw;Wk; jd;dhu;t njhz;L 

epWtdq;fs; Ra cjtp FOtpw;F fld; toq;Ffpd;wd 
c. rpW FW tptrhapfs; tptrha njhopyhsu;fs; kw;Wk; iftpidQu;fSf;F fld; 

toq;Fjy;  
d. FW epjp fld; toq;Fgtu;fisAk; thq;Fgtu;fisAk; xOq;FgLj;Jjy;  
e. tpil njhpatpy;iy 
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140. Functions of NITI Aayog  
i. Implementation of policies and programs 
ii. Infusion of new policy and issue-based support  
iii. Implementation of Sustainable Development goals 
iv. Publishing HDI report since 1990  
a. i only   b. i, ii, iii, iv c. i, ii, iii   d. i, iii, iv  e Answer not known 
epjp MNahf;fpd; gzpfshtd: 
i. nfhs;iffs; kw;Wk; jpl;lq;fis nray;gLj;Jjy; 
ii. Gjpa nfhs;iffis Vw;gLj;jTk;> jdpg;gl;l gpur;ridfSf;fhd MjuitAk; 

jUk;. 
iii. ePbj;j epiyahd tsh;r;rp ,yf;Ffis nray;gLj;Jjy; 
iv. 1990Mk; Mz;bypUe;J kdpjd; Nkk;ghl;L FwpaPl;bid ntspapLjy; 
a. i kl;Lk;   b. i, ii, iii, iv c. i, ii, iii   d. i, iii, iv  e. tpil njhpatpy;iy 

 
141. Health Schemes 

i. Dr. Muthulakshmi Maternity Benefit – Rs. 18000 for pregnant women 
ii. CM Comprehensive insurance  - Universal healthcare to all 
iii. TN health systems project   - Free Ambulance services 
iv. Mid-day meal – Children between the age of 2-14 attending  
a. i, ii, iii   b. i, ii, iii, iv    c. i, iii, iv    
d. ii, iii, iv   e. Answer not known   
Rfhjhuj; jpl;lq;fs; 
i. Dr. Kj;Jnyl;Rkp kfg;NgW ed;ik jpl;lk; - fh;g;gpzpg; ngz;fSf;F &. 18 000 
ii. Kjy;thpd; tphpthd fhg;gPL jpl;lk; - midtUf;Fk; cyfshtpa Rfhjhuk; 
iii. jkpo;ehL Rfhjhu mikg;Gfs; jpl;lk; - ,ytr Mk;Gyd;]; Nritfs; 
iv. kjpa czT – 2-14 taJf;Fl;gl;l Foe;ijfSf;F toq;fg;gLfpwJ 
a. i, ii, iii   b. i, ii, iii, iv    c. i, iii, iv    
d. ii, iii, iv   e. tpil njhpatpy;iy   

 
142. Objectives of PDS 

i. Maintaining price stability 
ii. Increase welfare facilities of Poor 
iii. Rationing during scarcity  
iv. Improve distribution of basic goods 
a. i, ii, iii,   b. i, ii, iii, iv    c. i, iii, iv    
d. ii, iii, iv   e. Answer not known  
PDS d; Nehf;fq;fs; 
i. tpiy epiyj; jd;ikia fhj;jy; 
ii. Viofspd; eytho;T trjpfis mjpfhpj;jy; 
iii. gw;whf;Fiwapd; NghJ gq;fspj;jy; 
iv. mbg;gilg; nghUl;fspd; tpepNahfj;ij Nkk;gLj;jy; 
a. i, ii, iii,   b. i, ii, iii, iv    c. i, iii, iv   
d. ii, iii, iv   e. tpil njhpatpy;iy 
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143. The major objective/s of the government to setup the Planning Commission in 
India are 
i. To promote a rapid rise in the standard of Living of the people by efficient 

use of the resources of the Country. 
ii. Helps to increase the production and offering opportunities to all for 

employment in the service of the Country. 
iii. Do not have the responsibility of making assessment of all resources of the 

Country. 
a. (i) only   b. (i) and (ii) only  c. (ii) only 
d. (i) and (iii) only  e. Answer not known 
,e;jpahtpy; jpl;lf; FOit mikg;gjw;fhd murhq;fj;jpd; Kf;fpa Nehf;fq;fshtd 
ahJ? 
i. ehl;bd; tsq;fisj; jpwikahfg; gad;gLj;Jtjd; %yk; kf;fspd; 

tho;f;ifj; juj;jpy; tpiuthd Kd;Ndw;wj;ijf; nfhz;LtUjy; 
ii. cw;gj;jpia mjpfhpf;f cjTjy;> ehl;bd; midj;Jg; gzpfspYk; 

midtUf;Fk; Nity tha;g;Gfis toq;Fjy; 
iii. ehl;bd; midj;J tsq;fisAk; kjpg;gPL nra;a Ntz;ba nghWg;ig vLj;Jf; 

nfs;s Ntz;bajpy;iy 
a. (i) kl;Lk;   b. (i) kw;Wk; (ii) kl;Lk;  c. (ii) kl;Lk; 
d. (i) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 

 
144. According to the Growth rate the successful five year plans are 

i. First five year plan  ii. Third five year plan   
iii. Fifth five year plan  iv. Seventh five year plan 
a. i, ii and iii   b. ii, iii, and iv  c. i, iii and iv 
d. i, ii and iv   e. Answer not known 
tsh;r;rp tpfpjj;jpd; mbg;gilapy; ntw;wpaile;j Ie;jhz;Lj; jpl;lq;fs; 
i. Kjyhk; Ie;jhz;Lj; jpl;lk; ii. %d;whk; Ie;jhz;Lj; jpl;lk; 
iii. Ie;jhk; Ie;jhz;Lj; jpl;lk; iv. VohtJ Ie;jhz;Lj; jpl;lk; 
a. i, ii kw;Wk;  iii  b. ii, iii, kw;Wk;   iv  c. i, iii kw;Wk;  iv 
d. i, ii kw;Wk;   iv  e. tpil njhpatpy;iy 

 
145. Which of the following statements are true about Indian Economy? 

1. Indian economy is a typical example of Capitalist Economy 
2. Agriculture being the maximum pursued occupation in India. 
3. Indian economy has a place among the G20 countries. 
4. Adequate employment generation. 
a. (1) and (2) only  b. (2) and (3) only  c. (3) and (4) only 
d. (1) and (4) only  e. Answer not known 
,e;jpa nghUshjhuk; Fwpj;j rhpahd nrhw;nwhliu fz;Lgpb. 
1. ,e;jpa nghUshjhuk; Kjyhspj;Jt nghUshjhuj;jpw;F rpwe;j vLj;Jf;fhl;lhFk;. 
2. ,e;jpahtpy; mjpfkhNdhh; Ntshz; njhopy; nra;J tUfpd;wdh;. 
3. ,e;jpag; nghUshjhuk; G20 ehLfspy; ,lk; ngw;Ws;sJ. 
4. Ntiy tha;g;ig cUthf;f jpwd; cs;s epiy. 
a. (1) kw;Wk; (2) kl;Lk; b. (2) kw;Wk; (3) kl;Lk; c. (3) kw;Wk; (4) kl;Lk; 
d. (1) kw;Wk; (4) kl;Lk; e. tpil njhpatpy;iy 
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146. Choose the incorrect statement about the strengths of Indian Economy. 
a. India has a mixed economy  b. Industries plays the key role 
c.  India has a fast-growing economy d. Fast growing service sector  
e. Answer not known 
,e;jpag; nghUshjhuj;jpd; gyq;fs; vd;w jiyg;gpy; nghUe;jhj thf;fpaj;ij 
Njh;e;njL. 
a. ,e;jpah xU fyg;G nghUshjhuk;   
b. njhopw;Jiw Kf;fpa gq;F tfpf;fpwJ 
c. ,e;jpah Ntfkhf tsUk; nghUshjhuj;ij nfhz;Ls;sJ 
d. Ntfkhf tsUk; Nrit Jiw 
e. tpil njhpatpy;iy 

 
147. Choose the correct answer: 

Assertion [A]: Development increases the quality of life. 
Reason [R]:  People will have higher income, better education, better 
health and nutrition, less poverty. 
a. Both [A] and [R] are true and [R] explains [A] 
b. Both [A] and [R] are true and [R] does not explain [A] 
c. [A] is correct and [R] is false 
d. [A] is false and [R] is true 
e. Answer not known 
rhpahd tpiliaj; Njh;T nra;f. 
$w;W [A]: Nkk;ghL tho;f;ifj; juj;ij cah;j;JfpwJ. 
fhuzk; [R]: kf;fs; mjpfkhd tUtha;> rpwe;j fy;tp> cly; eyk; kw;Wk; 
Cl;lr;rj;J> Fiwe;j tWik ngWthh;fs;. 
a. [A] kw;Wk; [R] ,uz;Lk; rhpahdJ> kw;Wk; [R], [A] it tpsf;FfpwJ.  
b. [A] kw;Wk; [R] ,uz;Lk; rhpahdJ [R], [A] it tpsf;ftpy;iy 
c. [A] rhpahdJ kw;Wk; [R] jtwhdJ 
d. [A] jtwhdJ kw;Wk; [R] rhpahdJ 
e. tpil njhpatpy;iy 

 
148. The Public – Private – Partnership in India is systematically meant for investments 

in _______ 
a. high – priority public utility services 
b. increasing infrastructural facilities 
c. both (a) and (b) 
d. National Defence alone 
e. Answer not known 
,e;jpahtpy;> nghJj;Jiw kw;Wk; jdpahh; Jiw $l;L KjyPLfs; ve;nje;jj; 
Jiwfspy; rhj;jpak; vd;gij njhpT nra;f. 
a. Kd;Dhpik ngw;w nghJg; gad;ghl;Lj; Jiwfspy;    
b. cs;fl;likg;G trjpfis mjpfhpf;f    
c. NkNy Fwpg;gpl;l (a) kw;Wk; (b) kl;Lk; 
d. Njrpa ghJfhg;G nrytpdq;fis mjpfhpf;f    
e. tpil njhpatpy;iy 
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149. Match correctly the expenditure with their corresponding items: 
A. Capital expenditure  1. Energy and Transport development 
B. Revenue expenditure  2. Bridges and Hospitals construction 
C. Sectoral expenditure  3. Salaries Pension and interest 
D. Deferred expenditure  4. Advance payment for goods and services 
 A B C D 
a. 3 2 1 4 
b. 2 3 1 4 
c. 1 2 3 4 
d. 4 1 2 3 
e. Answer not known 
nrytpdq;fis mtw;wpd; njhlh;Gila nghUl;fSld; rhpahfg; nghUj;jTk;. 
A. %yjdr; nryT   1. Mw;wy; kw;Wk; Nghf;Ftuj;J tsh;r;rp 
B. tUtha;r; nryT   2. ghyq;fs; kw;Wk; kUj;Jtkisf; fl;Lkhdk; 
C. Jiwr; rhh;e;j nryT  3. rk;gsk;> Xa;T+jpak; kw;Wk; tl;b 
D. xj;jpitf;fg;gl;l nryT  4. nghUs;fs; kw;Wk; NritfSf;fhf  

Kd;$l;bNa gzk; nrYj;Jjy; 
 A B C D 
a. 3 2 1 4 
b. 2 3 1 4 
c. 1 2 3 4 
d. 4 1 2 3 

e. tpil njhpatpy;iy 
 

150. Which one of the followings is not the main objective of Monetary Policy? 
a. Full Employment   b. Encourage Capital Market 
c. Price Stability    d. Maintaining Balance of Payments 
gpd;tUtdtw;wpy; vJ gztpay; Nfhl;ghl;bd; Kf;fpa Fwpf;Nfhs; md;W? 
a. KO Ntiytha;g;G   b. %yjdr; re;ijia Cf;Ftpj;jy; 
c. tpiy epiyj;jd;ik  d. nrYj;Jepiy ,Ug;gpd; guhkhpj;jy; 
e. tpil njhpatpy;iy 
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